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1. On the basis of your reading of the given passage (650
words), answer the questions below 15
January 1, 1948. Queens, New York. Today, read my novel
[“The Town and the City"] in its entirety. [ see that it's almost
finished. What is my opinion 2 It is the sum of myself as
far as the written word can go, and my opinion of it is like

my opinion of myself |—gleefy] énd affectionate one day, black

with disgust the next. Wrote 2500 words, until interrupted by
2 vil '
Isit from Allen Ginsberg, who came at four o'clock in the

o
orming to tell me that he is going mad, but once and if

¢ | e - L



cured he will communicate with other human beings as no
f o

one ever has—completely, sweetly. naturally. He described his
terror and seemed on the verge of throwing a fit in my house.
When he calmed down I read him parts of my novel and
he leeringly announced that it was ~greater than Melville. in

a sense—the great American novel.”

I did not believe a word he said.

Someday 1 will take off my own mask and tell all about Allen

Ginsberg and what he i« in the “real” flesh. It seems 10 MC

that he is just like any other human being and that this drives

him to wit's ends. How can | help a man who wants to be

4 monster one minute and a god the next

April 17, 1948. Went to N.Y,, argued with 2 gir| all night.

Also. Ginsberg went mad and begged me 10 hit him—which

spells the end as far as I’'m concerned, since it’s hard enough
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to keep sane without visiting the asylum cvery week. [He
wanted to know “what else” 1 had to do in the world that
didn’t include him. I told him 1 did have an unconscious desire
to hit him but he would be glad later on that I did not. I
have been through with all that foolishness since the days
I fought with Edie [EdiFh Parker, Kerouac’s first wife] and
climbed trees with Lucien [Carr], but these Ginsbergs assume
that no one else has seen their visions of cataclysmic emotion,
and try to foist them on others. I have been a liar and a
shifty weakling by pretending that 1 was the friend of these
people—Ginsberg, Joan [Burroughs], Carr, Burroughs, [David]
Kammerer even—when all the time 1 must have known that
we disliked each other and were just grimacing incessantly
in a comedy of malice. A man must recognize his limits or
never be true.

P.T.O.
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iae In Russia they slave for the State, hey
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sve lor Expenses. people rush off 10 meaningless jobs

1
L. \_“ Pk V

cay after day, You see them coughing in the subways at

wn. They squander their souls on things like “rent,” “‘decent

Aa

“gas and clectricity,” “ipsurance,” pehaving like

out of the fields and are SO

peasants who have just come

dreadful tickled because they can buy baubles and doodads

in stores.

My life 1 going 10 be a farm where I’ll grow my food. |

won't do nothing but sit under a {ree while my crops arc

de wine, writ€ novels to edify my soul,

growing. drink homema

play with my kids, and thumb my nos¢ at the coughing
wretches. The next thing you know, they'll all be marching
hich their Jeaders will start t0

off to some annihilating war W

ns. shit on the

Shit on the Russia

keep up appearances.

Americans, shit on them all.
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I have another novel in mind—"“On the Road”—which I keep
thinking about : two guys hitchhiking to California in search
of something they don’t really find, and losing themselves

on the road, coming all the way back hopeful of something

else

(@) What is the form of the passage that you just
read — is it a Letter, a Confession, a Diary Entry, or

a Feature Article ? Give reasons for your answer, 14+2=3

(b) The writer of the above passage reveals a lot about
himself. Based on your reading of the above passage,

outline any three aspects of his character. 3

(¢) In Russia they slave for the State, here they slave for
Expenses. People rush off to meaningless jobs day after
day, you see them coughing in the subways at dawn.
They squander their souls on things like “rent,”

“decent clothes,” “gas and electricity,” “insurance,”

P.TO.
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behaving like peasants who have just come Oui of the
enaviliy 2
fields and are SO dreadful tickled because they can buy

baubles and doodads in stores -

() What is the figure of speech being used in the

ialicized lines; is it 2 Metaphor, a Simile, a

Hyperbole, or an Alliteration ? |
(i) Explain the meaning of the above extract. 2

Find -synonyms for the following words/phrases in the
given passage : 3
(i) Delighted

(i) Devastating

(iif) Laboring

(iv) Healed

(v) Continually

(vi) Trinkets.

Describe the writer’s relationship with Mr Ginsberg. Give

reasons 10 support your answer. ]
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Fill e the blanks with the given options 5
When we lived in Koraput, Orissa, we .......l...........
(has/have/had) no electricity; no primary school nearby
and water did not flow out of a tap. As a result, I
did not go to school .....................2..........(yet/until/later)
the age of eight; 1 was home-schooled. My father

3o.o.....(use to/used to/ was to) get transferred
every year. The family belongings SO SRR 11174
fit/fitting) into the back of a jeep — so the family moved
from place to place and without any trouble, my Mother
............. 5.........(should/must/would) set up an
establishment and get us going. Raised by a widow
who had come as a refugee from the then East Bengal.

_6.........(she is/are/was) a matriculate when she

married my Father.

P.T.O.
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Ay parents set the foundation of my life and the value
A} i)¢ e S -

cvstem. which makes ..ooeeeee?.o.oe.(him/her/me) what |
am todav and largely, defines what success means tg

me today.

Our day used to start with the family huddling around
................ 8........(my/their/her) Mother’s chulha — an
carthen fire place she would build at each place of _
posting where she would cook for the fanii]y. There
WAS sossisrinsisinemnenes . R (either gas, or electrical
stoves/neither gas, I'-IOI‘ electrical stoves). The morning
routine started with tea. As the brew was served, Father

.............. 10...........(should/will have to/would) ask us to
read aloud the editorial page of The Statesman’s
‘muffosil’ edition — delivered one day late. We did not
understand much of what we were reading. But the ritual

was meant for us to know that the world was larger

than Koraput district and the English | speak today,

despite having studied in an Oriya medium school, has

to do with that routine.
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290
Fdit and rewrite ‘1_ht‘ tollowing passage o remove
errors. There is an error in each of the five parts of
the passage. 5
a. There would a lot of talk of aukaat and jaat in
Article 15. b. The film’s title -refers to the provision
in the Indian Constitution that prohibits discrimination
on the grounds of religion, race, caste, sex, butplace
of birth. c. Yet it’s no secret that even today across
much of India caste remainedthe enduring marker of
identity, and the singular cause of conflict and violence.
d.AyushmannKhurrana plays AyanRanjan, a newly
minted IPS officer posting to 2 small town named
Lalgaon in the armpit of Uttar Pradesh. e. Ayan represent
the educated, urban Indian — idealistic, progressive,

woke, but uninformed when it comes to the 'real issues'

of the other India; the ‘real’ India.

P.T.O.
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On the basis of your reading of the given drama extract (60y)

words), answer the questions below 0
The play opens on @ dark stage. A window behind the k:’tche,?
down stage right is lit and immediately an emergen,
(ambulance) siren is heard and the confused sounds of ,
hospital O.P.D. Two figures in white Jackets are silhouette]
against the window briefly and are saying Shivani . . . Sanjay
... An accident . . . a cacophony of sounds. Simultaneously
Jfrom right of stage a phone sound is heard. The light fades
on the couple, they vanish and the ambulance siren merges
into a strident phone ring, which merges into an alarm clock
going off. Light shifis to the bed on the right of stage. Shivani
reaches out her right hand from under the pillow and shoves
the alarm into the bedside drawer. The phone keeps ringing.

It's 6 pm in the evening. She turns, picks up the phone with

her lefi hand and drops it back in its cradle cursing, pillow
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on her head Phone is persistent but the ambulance sound
tapers off- She slides her hand out of the pillow and grabs

the phone.'

SHIVANI(confused, sleepy): Hello! Hello? Doctor? (sits bolt
upright) Oh God, Sanjiv, it's you. I had an awful dream, a
hospital . . . (broken) two doctors and that siren. Listen I
have this premonition—can we meet earlier for a coffee—I
have a bad feeling that won't go away (rubs her back on
the pillow and vanishes under the sheet).

She listens, and her mood changes, swings her legs off the
bed

No! definitely not! No damn five minute coffee breaks! What’s
the point, Sanjiv? (Looks for her ‘cigarene as he continues
placating her; lights her cigarette, it won't light) No! | can't

talk at work I just can't—the studio is full of technicians and

P.TO.
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that damn inquisitive Das—it's so bloody noisy and you know

it (lights her cigareite) once you get there it's like a conveyor
belt yvou (_:an't get off! (She inhales, listens to him). Sanjiv,
cut the crap, are we going with Renu and Ajay to the Djinns
or not ? (She inhales nervously, throws her feet over the
bed, running her hand tiredly over her head as she listen_s
to him, and head comes down dejectedly) Oh! I see . . . |
well I guess a second birthday is a big event. Even the papas
have to be godd boys, right ‘7 Well, if you have to you

have to (stares at her cigarette viciously, slips on her chappals |

from under‘the bed). I'm not making a scene. I am not! You 1

called me, remember ? (Searching for her tablets on her table,

l

|

bends, listening to him) What do you want me t0 bring? k
The 'Economic Times' of the 14th (her tablets in hand, she
swallows them, and as she stands up she catches sight of

her dishevelled, unkempt self in the mirror opposite, she stares
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at Iherse{/). Yes. Okay, we'll meet for the briefing at 7.30 pm

.. anything else ? (Distracted, stares at the mirror, takes
off her hairband, and is about to hang up oh him, rethinking
her whole life) What ? Black ?! Absolutely bloody not! You
know I hate black!! I-am-not—making-a—SCENE! (She bangs
the phone down and keeps staring at the mirror, stares al
the coat rack with. a black trouser suit draped across it,
runs a hand across her face, looks at her ringless finger

and is near tears.)
Phone goes again, she thinks it's Sanjiv trying to make up
and grabs the remote.

(@)  ‘the ambulance siren merges into a strident phone ring,

which merges into an alarm clock going off...". What

does this use of sound suggest about the scenario

being depicted ? 3

P.T.O.
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How do the stape directions (given In iahics) ot the
beginning ol the dramatic extract help in establishing
the scene

| ist three facts about the speaker’s life that emerge

from her telephone conversation. 3

What do the stage directions during the telephone

conversation convey about the speaker’s emotional

I

state ?
Based on the extract, what seems to be the nature of
the relationship between Shivani and Sanjiv. Give three

evidences.

‘wd

On the basis of your reading of the given short story extract

(610 words), answer the questions below 15

In the beginning, for most of the day, he had stared at his

bedroom ceiling, at the three beige blades of the fan

churning at its center, their edges grimy. He could hear the
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3 calendar scraping against the wall behind him

top edge of

when the fan was on If he moved his neck to the right he

had a view of a window with a dusty bottle of Dettol on

4 if the shutters were open, the concrete of the

s jedge and.

.all that surrounded the house, the pale brown geckos that

«campered there. He listened to the constant parade of

counds outside. footsteps, bicycle bells, the incessant

of crows and of the horns of cycle rickshaws in

sguawkm

{8

tne lzne so narrow that taxis could not fit. He heard the
tube-well at the corner being pumped into urns. Every
evening at dusk he heard a conch shell being blown in the
nowse next door to signal the hour for prayer. He could smell

oul not see the shimmering green sludge that collected in

Life within the house continued. His father came and went

Tom worik. his brothers and sisters from school. His mother

P.T.O.
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worked in the kitchen. checking in on him periodically, her
lap stained with turmeric. Twice daily the maid twisted rags
into buckets of water and wiped the floors. During the day
he was groggy from painkillers. At night he dreamed either
that he was still trapped inside the train or, worse, that the
accident had never happened, that he was walking down a
street. taking a bath, sitting cross—legge;i on the floor and
eating a plate of food. And then he would wake up, coated
in sweat, tears streaming down his face, convinced that he

would never live to do such things again. Eventually, in an

attempt to avoid his nightmares, he began to read, late at

night, which was when his motionless body felt most
restless, his mind agile and clear. Yet he refused to read the
Russians his grandfather had brought to his bedside, or any
novels, for that matter. Those books, set in countries he had

never seen, reminded him only of his confinement. Instead
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he read his engineering books, trying his best to keep up

with his courses. solving equations by flashlight. In those

silent hours, he thought often of Ghosh. "Pack a pillow and

a blanket.," he heard Ghosh say. He remembered the address

Ghosh had written on a page of his diary, somewhere behind

the tram depot in Tollygunge. Now it was the home of a
widow, a fatherless son. Each day, to bolster his spirits, his
family reminded‘ him of the future, the day he would stand
unassisted, walk across the room. It was for-this, éach day,
that his father and mofher prayed. For this that his. mother
gave up meat on Wednesdays. But as the months passed,
Ashoke began to envision another-sort of future. He imagined
not only walking, but walking away, as far as he could from
the place in which he was born and in which he had nearly

died. The following year, with the aid of a cane, he returned

P.T.O.
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to college and graduated, and without telling his parents he
applied to continue his engineering studies abroad. Only after
he'd been accepted with a full fellowship, a newly issued
passport in hand, did he inform them of his plans. "But we
already nearly lost you once," his bewildered father had
protested. His siblings had pleaded and wept. His mother,
speechless, had refused food for three days. In spite of all

that, he'd gone.

(@)  Why are sights and sounds described with such detail

in the first paragraph of the above extract ? 3
(b)  Why does the narrator begin to read ? 4
(¢)  Why does the narrator wish to go abroad ? 4

R
LY

(d)

The narrator finds it nightmarish to dream “that the
accident had never happened”. What might be the

reasons for such a feeling ?
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Atempt any o composition questions (in 400 - 450 words

provided below.  Fach question

cach) from the three choices

« linked to the comprehension pieces in Qs. 1/73/4. 2-10-20

() Based on your reading of the passage in Q. 1, write

a letter from the writer to his mother.

() Based on your reading of the extract in Q. 3, write a

character sketch of Sanjiv.
(¢)  Imagine the narrator is visited by Ghosh’s father. Write

10 wrns of dialogue between them continuing the story

as suggested by the passage in Q. 4.

19 6.000
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1.

" Attempt All questions.

"Read the passage given béldw and answer the questions that

follow "

Most of us nowadays can'y the world in our pocket' It is
amazing but true A moblle phone keeps us connected to the
rest of the world all of the time. Today, parents do not have

to remain in tension .-if- their sons or daughtc:s are late.

Busmessmen do not have to queue up before -a, telephone

' (1,

booth to’ make an. lmportant call, Apart from makmg calls and

~ sending messages, the mobile phoné is used as 'a‘muftipmpose

gadget. It is_..va. calculat,br,_. a Jimepjece, a ‘._caléndaru,; a voice

P.TO.




recorder, a media player, a camera a gaming device, a net

browser. and so much more. The invention of mobile phones

is a great achievement ‘and plays an important part in our

daily lives. Its many as_pects are beneficial but it has some
;.'..J i+ "

negative effects as well.

The development of : the mobile ‘phone has made our lives

vcry convenient.
.Commuh‘ieat;ig’n'_ ‘fbehfv:een: peoplehas hecome ‘quite “easy and
very fastWe ._‘_car_i' | keepmcontact W1th others from -"allly place—
on ‘the hus-, m astreet or;; -while 'ir_l'-al. meetmg, by eenaing

a message that costs us much less than the pnce of a call

L BT i SR

y 'ng ”;[ptemet:;;egg,;;be agcps(sed fhrqugh lt and-. it .is: also _used

AR 2IBUL e, M A "ii.:"x:'!::. Y a2 s i -
1o Hf(e-,photos- and shoot ':_v-ldeos. ._Busmess deals can be done

-

on.a smg]e eall through a cell phone outsndé the ofﬁce in.

1 ;)é;;iﬂul??ré‘oro Juh e nShpPpmg centre Tmsl mvﬂﬂmﬂ g"‘s e

- 'Wﬂ_n‘l'ose'r ,faﬁﬂi ?-‘_a?riﬂl%’esf-!.it-‘.' ‘-eaéilyi@i?a‘cc'eesi"-blé.. |



Mhough the mobile phone is a giant step of technological

sdvancement, its abuses cannot at all be overlooked. Talking

v texting while driving may lead to accidents. The radiations

x

of mobile may be dangerous to health and may cause
noadaches. earaches, and blurring vision. These invisible
radiations destroy the cells located in the ear which cause
damage to the brain and te the mephrons in the head region.
Its use in certain places causes disturbance sometimes, such
as in a classroom, a movie thea&e, or a hospital, etc. Mobile
ohones with camera are causing serious privacy problems with
people using them as a hidden camera to take pictures and
make videos. And although the mobile phone brings the world
in our pockets by keepmgus :;onrilectéd all .of the time, it
alse unfortunately disconnects -us from  our loved ones.
Questions :

() Write short answers to the following questions : $x2=10

(@) How is a mobile phone like a world in our

pockets ?
() Why do the parents not have to'remain in tension

if their sons and daughters are late ?

PTO.




( 4 ) - 3300

(¢) List two negative effects of thg use 'of a mobile
phone.
(d) What, according to you, is ‘the most u§efu1
purpose of a mobile phone and why ?
(e) How has the mobile. phone disconnected us from
our loved -ones ?
() Find words in the pfassa_geb tha‘t. rﬁean the same as the
followingb: | - : 5
(a) astonishing
(b) mental or_emotjonal strain

(¢) advantageous

(d) obtainable, reachable
(e) . development.

2, On the basis of your reading of the above passage make
notes on it, using headings and sub-headings.
Use recognizable ‘abbreviations whenever necessary

(minimum two). " 3
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Write a review of a horror film that you recently watched 15
Or
Write a review of a book that you recently enjoyed reading.

You witnessed a case of road rage while coming home from

college. Write an FIR sharing all the relevant information about
the incident. 10

o
You are dissaﬁ;ﬁed w1;ﬁ1 th;' marks yq!i scored in the previous
semester. Wﬁm. an kTI_ aslcmg for the marking criteria that

was used for evaluating your answer script.

You are the President-'bf.xhé-_studehts' o ot your college.

Write a F.ac'ebo'ok post  inviting the. Alumni Associa‘t_ion of

your bollegc to attend the Annual Day celeb_r_atii)ns. 5
Or "

Write a tweet sharing your recent achievement with your

followers on TWitter.

PTO.



~ “and rushed in gra

L300

Write a diary' entry about

Write a blog about a wvacation - you

family.

| __You are the ed1to

'Indian-- ecottbmlst
at least‘ten turhs ‘
; Rewrlte the glven

: '--‘for' 'p_unetuatton, Ispellmg and grammar (10 errors)

E the- ‘train was approachm

a he'-gl_aQCed "

( 6 ) 13000

your first day at'a new job. 10 [

Or

' Sr

recently took with your
' 1/

N.
ming. weekend.

Rohit calls. up Ravn to make a plan for the co
_ N

Wnte ‘the dlalt)gue between them m at least ten turns. 10

T, of your college magazme Interview the

. 5
who won the Nobel Pnze in Econom1cs Write v

S
In

passage aﬂer edltmg and proofreadmg it
1
5

“ J ] . . . oy
g he got up and walked towards it 2.

. the crouds thronged towards the door.’ he qulekened his pace

bbmg the rod as the train started moving

N
owards the bench where he had been sxttmg

100
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Part A : 55
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pstructions for Candidates

Write your Roll No, on the top immediately on receipt

of thn guestion paper.

This question paper has two parts, Part A 1s
compulsory for all examinees. Part B is meant for
those examinees, who have not offered computerized
accounts. Part A and Part B are to be answered
an the same answer sheet, For candidates who have
offered computerized accounts the paper 1s of 2 hrs
30 minutes and for candidates who have not offered
computerized accounts the paper i of 3 hrs, In case
dissolution of partnership firm is attempted, mention

p.T.0,
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8
PART A + PART B on the top of the answer sheet
And in case TALLY 1s attempted, mention PART 4
on the top of the answer sheet. A
3 Attempt all questions.
5

4 Show vour working notes clearly.

5 Answers may be written cither in English or in Hindi p
but the same medium should be used throughout the

paper.

6. Use of simple calculator is allowed
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2 1% the Receipts and Payments Account

2 dports Club for the year ended 31 December.

P.T.O.
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Receipts Rs. o Pam?ﬁt; - W o R_ﬂ
To Balance bd By Salaries 14,000
Cash at Bank 22,500
| I ] U
To Subscriptions 40,000 ' By Match Expenses 28,000
To Donations 15,000 | By 12% Investments on 1-1-2018 | 40,000
| ;
' (Donation received for Building
' Fund Invested)
. |
' To Life Membership Fees 35,000 : By Sports Material 15,000
-
"To Sale of Furniture at Book 5.000 ' By Printing and Stationery 1 12,000
Value
To Interest on 10% 20,000 By Honorarium 5,000
' Investments for the full year
, : .
' To Match Fund . 40,000 By Fumiture 15,000
' To Denaton for Building Fund i 40.000 . By Magazines and Journals 10,000
| To Sale of Newspapers i 2.500 By Books 35,000
| ' By Municipal Taxes 6,000
1 .
| ' By Balance c¢/d
| ' Cash at Bank 40,000
| 2.20.“]] . ‘ 2.20‘@-]
{ | | :

Additional Information :




5

Ad on V17 Dwcambar 017

' | Aeon 1" Tanuary, 2018
| |

Ra

i Subscriptions due 1 000

‘ Spiheenphons ﬂ‘l‘l‘i\’ﬂ“ n 1.000

advance

i L
" Furmiture 10.000

" Books 20.000

S ———_
125,000

T ' 4,500

'
- Building

Stock of Sports Matenial

' Creditors for Printing 2,500

Municipal Taxes paid every year on 1% April for the

Financial Year.

Prepare Income and Expenditure Account for the vear

ended 31* December, 2018 and Balance Sheetr as on

that date.
OR

From the following Trial balance and additional
information, prepare Trading and Profit and Loss
Account of Ankit for the year ended 31 03.2019 and

a Balance Sheet as on that date
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TRIAI BAILANCE

As at 117 March. 2019
Particulars Debyt Balances (rede Babanecss
(Rs ) ‘Pa
Opening Stock 30.000
Purchases ! .00 0006,
Sales ) T 975 50m
" Land and liulldmgm - | | 1.50.006 |
Machinen T a00000 -
Accumulated _Depwclau(';n on Land and 25 008
Building
~ Accumulated Deprecianon on Machmery <) 108y
l_m'apnaln 55.000
Bad Debts o ‘ S 000 y
Provision for Bad and Doubtful Debrs 307
Salanes H.000
Rent, Rates and Taxes 20.000
" Trade Expenses 5,750 .’
[ Depreciation on Land and Bulding 6250
' Depreciation on Machinery 20,000
-, Lite lnswrance Premum i
" Income Tax _ a 5.000
' insurance charges T
- Sundny Debiors amd Sundrny Creditors TO.000 S0.000
¢ aifidage lnwands i : o0
' . T 12.90.000 12.90.006
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Addittonal Information :

(1

(n)

(111)

(1v)

(v)

(vi)

.l T

Closing Stock valued at Rs. 35,000 on 31st
March, 2019.

Groods withdrawn by the proprietor Rs. 2,000.

Goods of Rs. 7,000 were distributed as free
samples for advertisement.

Goods costing Rs. 5,000 were destroyed by fire
and insurance company accepted a claim for
Rs. 4,000, not yet received.

Insurance charges prepaid at the end of the year
Rs. 2,000.

Write off Rs.2,000 as further bad debts and
maintain a provision for bad and doubtful debts
equal to 5% of the sundry debtors. (13)

31 fedaw, 2018 Y T TQ A B forg TEE ol < R
3 s @m PR ¥

gt T, | YT 13
aqe & forg b/d I B 14,000

qF A Ahol 22,500
e & forw 40,000 [ @4 BW 28 000
P.T.O.
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[z # | 15000112018 12 s |
if:wm & B
(&lwn wy gARIP Y ’
7, o 2 WA | '
A AZIA WA, 36 000 | 747 Bl 31 | : 4 ,
TF AT i |
w4 %1 fad 5 000 | 28RN 30 B 1..-_ 200 |
7 7 % fom rspters g | som
10% F2m = =R 20 000 1 |
#7 %2 7 fm 40 00 | T 39 | wou

w7 mwza | sopoo|frma & Baen 0o

T # fag 7 fem| 2 00| B T,:-,sm?
o | oo
#x 7 T T
™ c/d 29 40 OO0
2,20 000 2,20 000

1 T3 2018 | 31 ZEE oo
= (%) == (T
23 FW2H F1 A 3 000 12 750

oW A WA I 1,000 752




1 S

0
ngl |

1 — 7]
f 0 _\"‘]'. l”,”r]fl
| g1 AT 20,000 a6 000
| Sh 1,25,000 125,000
R\ AR f 4,500 4 n00
; . ! o —
ffrn A fau SR L 2,500 )l
. - —— ]

ﬁs:ﬂuwﬁ%ﬁwﬂmﬁm%mmﬂl-maﬁwml

3i9ﬂfﬁ.201saﬁwaaﬁ?ﬁ‘ﬁqr{.m.3ﬂvmmw

|

ww Bfy @ IFER qEE T4 FR F

erat

e zret A 3R sfaRed sHE@ ¥, 3@ 7§ = f
31032019 @ FAA 7Y a9 @ frg i At 3R SR Ak
ve WA FEET AR IA AN W TR T T qAW FL

Ap i i
3] A, 2019 A%

fa e M | B Aw

(%) (%)

e a— :

i Lk 30,000 i

- 5,00,000 _
! fah

= 9,75,000

‘ P.T.O.
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W ik v 1,50,000 )
D 4,00,000 -
M e waT w aRE e 25,000
TG W ARE e 80,000]
Toft 1,55,00?
e 0 5,000
A 3R e 70 B forg wraee 5,000
T 40,000
famm, ® ik wx 20,000
R g 5,750
R AR W W R 6,250
LiE L Sl 2 20,000
Sie ST W 15,000
T 5,000
ElLI 5,000
fafaer R sk il Aeer 70,000 50,000
HEF: TS Toh 18,000

12,90,000 | 12,90,000

AfRad TN -

(i) 31 9/, 2019 A FARET wfF o = T 35,000 |

(i) WoRIFeR TR Aow form W AR T 2,000 |
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Y

(iii) T 7,000 ® AW A ST & foe B @
X faaia e

(V) T & SG & 5,000 3 F T B MU 3k S
FUA T 4,000 TR D U e Hwr T B
I 9% W A& g

(v) o8 & &g ¥ We 9 w1 % 2,000 |

(vi) 3@ =& aﬁmﬁﬁ%m#ﬁz,oooﬁﬁsﬂtm
IR Glewer o & forw fAafdy ¥R & 5% = F
WEUH §90 @& |

(a) On 1°' April, 2016, a firm purchased a machinery
for Rs. 4,00,000. On 1% October in the same
accounting year, additional machinery costing
‘Rs. 2,00,000 was purchased. On 1% October, 2017,
the Machinery purchased on Ist April, 2016, having
become obsolete; was sold off for Rs. 1,80,000.
On 1% October, 2018, new Machinery was
purchased for Rs. 5,00,000 while the Machinery
purchased on 1*' October, 2016 was sold for
Rs. 1,70,000 on the same day. The firm provides
depreciation on its Machinery @ 10% per annum
on the written down value of the machinery.

Accounts are closed on 31% March cvery year.

T,




Bt T mm— r

ocount and Provision for
Show Machinery Acut

Account fot

|2 ‘
8401
!

(hree financial years |
Depreciation

3 .\‘)
3 o : ‘l'l" t i
\“l‘l“:" ol ) l N{-“ll] - F

Periodic and Perpetual |

Disthinguish between !
)

-

Inyventory recot d systenms

OR

ABC Ltd. purchased on | January 2015, certain
machinery for Rs. 1,94,000 and spent Rs. 6,000
on its installation. On 1 July 2015 additional
machinery costing Rs. 1,00,000 was purchased. On
| July 2017, the machinery purchased on | January
2015 having become obsolete was sold for |
Rs. 1,000,000 and on the same date, new machinery
was purchased at a cost of Rs. 1.50,000,

Depreciation was provided annually on 31

December at the rate of 10% p.a, on the original

cost of the machinery.

On 1™ January, 2018, however the Company has

changed the method of providing depreciation and |
adopted the method of providing depreciation @

5% p.a. on the written down value of Machinery
with effect from | January, 2018. Show th-c

Machinery Account for the calendar
to 2018

vears 20158
(%)
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g401
-hr"f;.’:' "f,.’,fb’ {,};;" ny peapect 1
(b) f‘h”f'r")'lnf_’ transact] ; f
i p " ~F C\Auzcr pAl, J
item r,f ,","3;1?»’_‘,"',.}5," in the monis o) /1A
_.___‘_______..—---'——T"-—.__-——-—--——--————-—---—-_p— -
L $ T 4 ety
Ome | Quanuty | R P [y
i -
“JVE -"nlf P", ["\-“.-l:t .
; Recerved 1 | )
| g ()
Varch 02 200) units 2.0 |
I.
\farch 10 300) units 2.40) |
- o
| 250 units |
\faI'Ch ]5 = g ; STHLAS _‘!
- |
March 22 250 units 2.60) Jl
ll 1]
i
r\r‘larch 30 — . 2Ny urits
| -

Prepare a Storc ledger card and calculate the

value of closing stock of material using - weighted

average method under perpetual system of

inventory valuation. (5)

(%) 1 #4A, 2016 F TF T4 3 FH P 4,00000 T
ﬁﬂﬁmmulwﬁzﬁvmﬁﬁ.
Afafr AFER 2,00,000 TT F1 ATA 3 @A W
F11 FER, 2017 F, | FIA, 2016 T A W
T At A T, 180,000 T A R wE
| w@za, 2018 F1 500,000 ¥ F fm 2 wan
a5 w q, fm = w1 FEE, 2006 1 AN

T A I8 I8 29170000 T A 7= 2w o w5

P.T.0O
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AfAD @ fafdrd =EA 1 W A WMAD (@ 10%0 Wy
aﬁq—ewum'mﬂl B¢ W 3] WA O @R
q¢ @¢ Bu o B 31 W, 2019 & AIE A Aaw
S faiig aut @ fag e @ o e A @
IR wraeE e |

s sk e o R Reew & @ We w
Jreran

T ffids 1 SFEd 2015 W @A T A, /Y
HHAA 1,94,000 TR FAR Iq TYMGT W T 6000 @Y
fFT1 1 9= 2015 @ 1,00,000 TWA R sfaRe
T @AG TS A1 1 GRS 2017 F, vEfod B
it 1 FEEd 2015 A @AS TS HHMAT ' 1,00,000
TR H S W W IR I/ A" F), 1,50,000 T
AN ¥ Y @ T R e S e
AR W 31 R W A 10% iy af &) e ¥
AR Yo fohar wmar o |

| AT, 2018 H, TR FEN ¥ AR W T
TR T@w R B ok 1 weEd, 2018 ¥ AHER B
fefe o197 e W e e oy € R 9@ @
15% Wid o w s ¥ @ w a8 2015 ¥ 2018
%ﬁ?ﬂﬁﬁ@mﬁw@
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§40 1

¥ AwmpAApre
wh ot b N woin ¥ w5
(1) / '

S e L A

[ frsriw | " ; ofem fms wa A7

| o (2 #1 w8
yrat | f '

A + e

w07 200 f{firr | 71 4 -
o ;) 300 qfif/ v A6 | '

i | --- | 155
w4 15 | ’ |
a4 22 250 47 Y7, ‘ ‘
' 60 B |
#1430 - [ - ] 200 PV |

fﬂ@WW&W&JWW{*W!‘M‘tﬂm
qmE A Az wfra Aus s mn pvke wad gl
7 aAfAn wtw & g A1 oven 27

4. (a) On 1" April 2017, Mohan purchased from Delns
Motors 5 cars costing Fs. 1.00.000 cach on hire
purchase system. The payment was to be made
Rs. 1,00,000 as cash down and remainder in four
equal annual installments of Ks. 1.,00.000 ezct
together with interest at the rate of 12%, p.a. at
the end of each financial year. Mohan writes 54

depreciation at the rate of 107, p.a
Cost.

on ornyginal

P10y
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Mohan paid the first instalment on time but could :
{ A
not pav the second mstalment due on 31% March
V10 After negotiation. Delht Motors agreed to §
leave 2 cars with the purchaser. The value of 3
cars repossessed was taken at cost Icss.

depreciation @ 20% p.a. on diminishing balance. |

Delht Motors after spending Rs. 15,000 on

repairing of repossessed cars resold the three cars
for Rs. 2.20.000.

Show Cars on Hire Purchase Account and Delhi !
Motors Account in the books of Mohan and Goods

Repossessed Account in the books of Delhi
Motors. | (10)

(b) What are the salient features of an Operating
Lease? (3)

OR

(a) X purchased 3 machines costing Rs. 1,90,000 each
from Y on hire purchase system on |* April, 2017. |
Total hire purchase price for these machines was
Rs.6.00,000. The payment was to be made as - |

Rs. 1,50,000 cash down and three installments of

Rs. 1,50.000 cach at the end of each financial
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(b)

(%)

17

*#T. .I rITEC )¢ - o i . s 0/
vear. X depreciates machine at 10% p.a on

written down value method.

Because of financial difficulties, X after having
paid cash down payment and first instalment due
on 31 March., 2018, could not pay second
astalment due on 31 March, 2019 and the seller
took back two machines leaving one machine with
the purchaser. Y took back two machines after

depreciating them at 20% p.a. on written down

value basis.

Prepare the Machines on Hire Purchase Account

and Y’s Account in the books of X.

And X’s Account in the books of Y. (10)

What are the salient features of a Financial Lease”?

(3)

] 39 2017 aﬁ,ﬁzwﬁﬁwmmﬂamﬁmﬁﬁ%
ﬁzﬁﬁsmﬁaﬁaﬁmmmopoomﬁwa&m
s ferar ST - 1,oo,ooowﬁma‘amﬁ3ﬂt
ﬁﬂqﬁaélz%ﬁmai%wmo,ooomﬁaﬁ
wm#aﬁ%&ﬁfﬁmﬁ?ﬂﬂaﬁ%mﬁu
ﬁ%ﬂ,q\aamaq?m%qﬁaéﬁﬂﬁww

2
P.T.O.
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Mea A yrdh v @ a9 ) R, e 3
W 2010 ) W Y fE w1 e T8 w5 a
wadg ® wr, Rl Aed ¥ @der F 9™ 2 FR N
N W AERy wEw W) 3 FR D A AN
20° Wi} a¥ wed AW ¥ W fowr wam an

fRh At 3 99 TR ) F=G W 15,000 T @
FH ® T AT TR A 2,20,000 WA X a9 feam

e &) Fow A e @ @@ ve = Aicd @
R il Aed = frae § 7= 99 @ (59 Rase
FHE3C) W ®R fFamw |

U (@) SRR A W e R @ 37
Frean

(F) X 1 309, 207 A Y ¥ 9N & @l WOt W)
WAF 1,90,000 € H ARG T 3 HEH @G | T
T & foe e froar @l = 6,00,000 TR o1 |
1,50,000 ¥ e AR WH 1,50,000 TR A O fred
TR g af & 9 A WEH & ® A R 9=\
qr | X fofas T2 vafa ® 10% iy o w Wi W
TE T B |
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favﬂumﬁsaﬁﬁ%m, 3] ¥, 2018 & Ade 33T
aﬁzaﬁvqﬁﬁﬁﬁwwmﬁ%m,Xmmﬁ,
2019ﬁgﬂﬁﬂmgﬁﬁaﬁwwaﬂvﬁﬁw
i%ﬁmré%amxwaiﬂﬁhraﬁzﬁgmzéiwdmﬁiﬁramﬂ
ﬁ'ﬁﬂTl20%0uﬁ¥aﬁtw:y%*aa'anﬁi%-mm Y
ﬁﬁwﬁvfu'%'amnztﬂ'a'mﬁﬁfaﬁ'mna & fomr

& frad ¥ e @l @n R Y F @ W
A AR W |
Y @ =R A X F @

(@) v i w2 i qe R w=n g e

Lh

Ashoka Ltd. has its branches in Delhi and Agra. Goods
are invoiced to the branches at cost plus 50%.
Branches remit all cash received to the Head Office
and all expenses at the branches are met by the Head
Office. From the following particulars of Delhi Branch,

prepare following Accounts of Delhi Branch in the
books of Head Office :

(1) Branch Stock Account
(i1) Branch Debtors Account

(i) Branch Adjustment Account

P.T.O.
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(V) Branch Profit and Loss Account
(V) Stock Reserve Account

for the year ended 31 March, 2019 :

1
|

Particulars Rs. Particulars " Rs,

| Branch Stock on April 1,2018 at 37,200 | Goods returned by 4,800
| invoice price Debtors
" Branch Debtors on April 12018 | 27.200 | Goods refumed by Branch | 6,000
| to H.O. at invoice price :
7}oo¢< sent to Branch at cost 1,36,000 | Goods transferred from SW
f Agra branch to Delhi
| branch at invoice price . _
| Cash Sales 1,00,040 | Shortage of Stock at 1,800 |
, ' invoice price |
' Credit Sales 1,24,000 | Discount allowed to 800 |
:l_ ) Debtors |
 Cash collected from Debtors 1,21,600 | Expenses at Branch 21,600
| B |

e (13)

__ OR

'.f-"(_a) Misha Ltd. has one Branch at Mumbai and other
at Kolkata. Prepare Mumbai Branch Account in
the books of Misha Ltd. from the following
particulars related to Mumbai Branch and find out
the profit earned by the branch for the year ending
on 31% March, 2019 ;-



|
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Particulars o Particulars Ps

ranch Stk on 1A 20018 at | 28,000 | Goods returned 1 H () al 1nvoice 7 5iHj

VaIe price price

Branch Debtors on 1-4-2014 12,000 | Returmns by Customers 1o Branch 5.100)

Petty € ash on 1-4-20) % 750 | Transfer of Good from Kolkata 13,0000

Branch to Mumbar Branch at

. Invoice price

Crondls sent 1o Mumbai [ 92,500 Pctty ];xpcnc,(_-(_ I'})' Branch 451}

Branch atinvoice price

( ash Sales 40,000 | Invoice Value of Goods stolen 4.000)

CCredit Sales 68,000 Cash receved from Inzurance | I KOO
_ Company by Branch
- ‘ -

( ollection from debtors 6),400 | Branch Debtor on 51-3-2019 12.900
i 5

Bad Debts [ 2,600 | Branch Stock on 31-3-2019 at 13,700,

. invoice price

Fent and Salaries 12,200
|

(b)

Goods are supplied to Branch at Cost plus 25%.
All expenses” of the Branch except petty cash
expenses (which are met by Branch Manager)
are met by Head Office and Branch sends all

cash received to Head Office. (%)

You are given the following particulars of a
business having two departments You are
requested to prepare Departmental Trading and
Profit and Loss Account for the year ended. 31"
March, 2019 on the basis of the following

information :

P.T.O.
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Pt nlain

Openiing Nock (07 04 201TH)
Parchisen

Nalen

Nale Returmn

Closing stock (Y1.03.2019)
Wages

Salanes

— -

)

Departiment A Department lﬂ
(1)) (Rs)
245,000 | )O,(Kl) 1

). 40,000 I,‘)(),(‘)(KTH
6,433,000 ) PH#4‘)J.(KK) "'
3,000 | _- 2.()()'0
o0 | 18000
80,000 60,000
B M;lﬁlu):()()() 25,000

Other common expenses are as follows

Rent
Depreciation
Ry, 8,000,

Rs. 15,000; Llectricity

Rs. 6,000:;

Rs. 18,000; Selling Expenses

Some other relevant informations are given below :

o —

articulars

foem -

Department A

Department B

Light Pomts (Numbers)

L T — s i . A T

Value ol assets (Rs.)

I —

Floor Area Occupied (sq.11)

e

I8 9
1.50,000 1.20.000
300 200
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s fafade A fae 3 s & o # ) e w8y ST

A s 500, s A e fvar swen @ ) oA e

AT B W qW AHE ) e # 3 omeensn @
Y WE e g e ? ) e sman # fefafas
Rawn /@, v s o) geEe ¥ R awn @ Fefafa

WA IR W

(1) T Wi @ran

(i) m%qmv:am.

(i) IIRET SRS @
(iv) Tman & 3R =i @
(v) & Red w@mar

31 W, 2019 H T 9§ B frv -

faawor . | faagor 3
T Wi IAWA 2018 TER ER W
T AT o W 37,200 |sitern 4,800
EC 1, 2018 W A hl F W
T dHER 27,200 |AE Q9 IIRET

¥ BT 3w 6,000

P.T.0,
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WA ot A0 o

ARG BT
A {q

yur fa
Aqu A AR UA

2

4

qrnay e A e
| 44 000 | @ A A A10A

WAl A 8,400
| 00 040 | AATA A4 1

T A A | 800
"1,24,000-"77::7;:1_71:3';1 ";c'_;rqafa 800
1,2 1,600 | & 7 21,600

Ham

() fasn fefads =) ox own qad A s ZA) FrAwE A
# | qud ara yeEr3e A qad ara A Aafoa faor faoe
A o fafazs o1 p=eE) & Aaw w2 AR 3 wH, 2019
F qara oA A a9 7 o o g A A o

O &7 -
famo % | faaam 3
|- 4-2018 7 A FN FIHA
AAH o T T 23 JfhA T
e T 28,000 | AT 1 AT 2,500
1-4-20187 12,000 | T ATTH 3,100
1-4-20187W FISETA A A
T A 750 | #Fd TR W AT
{0 T A BN 13,000
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ﬁ:{www Towem g1 #8178 | 450
j,;:aqvmﬁm 92,500
R | 46,000| A A F A LT | 4000
| fad 68,000 | T BRT A FTA
# FF7 WA 1,800
w7 29ER | AUE 61,400| 31-3-2019 ™
IIaT 2R 12,900
[mm 2 600/ 31- 3 - 2019 I A=A
i A R @l T 13,700
fﬁr{msﬂtﬁw 12,200
25% FE @ W AW H A SR 219
27 T (T 9 AR A Fiem F) Y Shew I w7
a0 @ 22 Afhg A fiear 2 @ 3w o @3 =
2T FAfha 1 S 2
(@) st 2 fsmll a2 @ fFesfafas e fio

¥ ad & qEfE, 3 W 2019 & o0 9y 3ERE
%mm%%ﬁw‘humnsﬁzmsﬂtzﬁm
frfefaa st & AUR R IR &y -

PTO
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;

famem favmar A favra 13 |

(%) (%) |
sfan wis (01 04 2018) DE(NN) 20).00)0)
@anN 2. 30.000) [O0.000)
- . i . ——— 1 ——— __..-_,__AL___..__.___ﬂ_,___“
fagh 6,33,000) 4,92 (00 1
g aa® 3,000 2.000
FAT w=TE (31.03.2019) 30,000 18.000)
LECC 80,000 60.000
Lot | 40,000 25.000

o I T G T TR B

feemn - =15,000; fas® - % 6,000 aBE -
%.18,000; faa =@ - % 8,000 |

T I JERE ga AN Ry o @

faaeor fasmr A fawmr B

v fag (wean) 18 9

weafeal @ e (%) 1,50,000 120,000

HUFT AT & (e ) 300 200
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PART - B

¢ (a) Brieflyv explain the rules laid down in the leading
case of Garner Vs. Murray and also explain the

situations when these rules can’t be applied.
(5)

(h)y W. X, Y and Z were partners sharing profits and
losses in the ratio of 3 : 3 : 2 : 2 respectively. The
following is their Balance Sheet as at 31 March,

2019.
| Liabilities Rs. | Assets Rs:
- Sundry Creditors | 31,000 | Cash at Bank 4,000
; W's Loans 20.000 | Sundry Debtors 32,000
Less: Provision
for bad debts (1,000) | 31,000
Capital Account Stock 20,000
W 40,000 Furniture 8,000
X 30,000 70,000 | Machinery 14,000
| Capital Accounts
' Y 12,000
Z 32,000 44,000
L 1,21,000 1,21,000

It was decided to dissolve the firm with effect
from 31* March, 2019 and X was appointed

to realise the assets and pay off the creditors. He

P.T.O.
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(2)

h

wWERR IETN

TEMMUDSTED T

repEEDNT WIDST EmiEESI W Rs N9 Theg
exnensns wemr pEd T X SU0T I DETSOmE AICoung
The psscis 2XIZPT ZERTE ERI DEERA TTE e
Ra o i AT T FEDE = af B hllm:lm
g sum o Rs S0DP wmes plse oS D =T g

~r ¢ Tl sericenean of thew cheoms 7

There zre two parimers A 2nd B

-l

OR

and losses cgumalls

Rs 120000 and

off 21l the credmnors. w0 forther mseailmnenss me

1 2
o P et

&0 ODD r=s

R . WD

RE IDE DOOES

ABRC JEAVIERE
-
ITSHoCaeaN
- 3

L B Iy

- — -

-
-

capitals af

Rs. £0.000. Prepare 2 Statemenmt
QSmdEDOR of cash dDorweosn parmmer
Proportiomaie Capital Method of

i Y

-

&£

| —
==

e T

fier pevig

- one for Rs RO O00 znd the other Sar

.
showizt
S gy o &1

besiness sharmd

profits and losses egmally. Their balance sheet B

3=

a1

March 2019 was as follows -




\mount
(Rs.) |
§ ¢ SEOTE 15000 | Machmers 200000

— = N T - .
~§ CECWEE AN  ramere [ 60000 |
e - - me = — - i
L 3 Bk __..."-_..',’- NENCK 5.&).&1) I
— ~ T N e ) g = T ;'
s Coadimors | 100000 | Sendy Debuos | 2.00.000 |
—— . - € | i
CasE ar bumk 10000
Rn— - :
B's capmal |
(overdrzwa) . 130000
B 14 60 09 14.60.000

Thae 1w 28 2rse Timemcizl position of all the parmers.
‘o Firmm was dissolved as oo tk2 zhave mentonad
sz32 B 233¢13 Were r=zlized zs follows:

Rs.
Machkmery 1.40.000
Toreitore 1.00.000
Swock 2 60.000
Sundry Debiors 1.10.000

Zxpenses on realizztion totzlled Rs. 10.000. All
the parimers were :nsolvent. While 2 sum of

Rs. 20.000 was received from B's private estate.

~5sary ledger accounts to close the
(15)

pP.T.O.

-
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(a) WA S A yHE HAA A fau v fae & Mm
aepy o g 1 A e @ e A A fy,

iy b fae o A |

(@) W, X, Y sl Z@wm 3:3:2: 2% I A ap
e e aen @eA At WIER A | 31 A, 2019 T
yael qeAaa faafafea #

e B N

3 fnfquf?mme_:ij 1000 | &% W = 4,:@?

Sl W A 20,000 | fafaer Sew 32,000 |

. s |

| . & fog e (1,000) | 31,000

T " 20,000

W 40,000 w4 .00

g X 30,000 70,000 | I 14,000

.y D e

: Y 12,000

g - Z 32,000 44.000

1,21,000 121,00

319, 2019 N FEAFET T @ Wy B =) i T
mm&mmmsﬁ?xﬂvﬁﬂﬁﬁzﬁww
T S AR B T D o g
T R @ ' ¥ 9w 2000 R w7 @
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(W)

(|

a1 PG Wl | IR Ay el EE AR adAr A M G00
e &) W1 ogd @l @ sua X A sma i
A B oy @ula @ sifaleaq da & amd 6 6 000
) age | A W IEA [ gad g
39wl @ oyt e A @ER w adhafon @l
€ 5,000 &1 WIEH W A s ar 7 fearfaa m oo
g IR srierR A fAuer & gadn aufa 4 6 7 400
AER v | MR Tm W ow A A A Ay w7
w4 @ T A ae FwR & fau gmemr aE g
TR W |

Jadan

2 ARER A 3R B @ 1 A M v mfA awn
@ ¥ 3R T 1,20,000 3K 60,000 FAW A1 TA 2 |
A @ FER @ WEE T & ae, A v fFe
vaa & W@ - UE 80,000 ¥ I I 40,000
T & fom 1w A famwo @ st g9 fafa w
A F A W) & A A @ faa )
&1 faa daw =l |

A, B 3 C @0 w1 A ¥ 3R wfF A #A A
ZaE A wier # 1 31 A 2019 F FAE AT
T YR oA

P.T.0.
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A von | e ’ L
(*) (") | s
Ay OIW NCILCUET Bl 400 (UK
¢ I RCUCTIR R BT 600,000
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Name of Course : B.Com.
Semester : I |
Duration : 3 hours

Maximum Marks ¢ 75
(Write your Roll No. on the top immediately
on receipt of this question paper. )

mmw%ﬁaﬁa‘?mﬁ#m}ﬁmﬂiﬂ _
@ W T S frad )

NoTe:— Answers may be writtén either in English or in
Hindi; but the same medium should be used

 throughout the paper.
;ﬁmﬁ:—swwm-aﬂsmaﬂ?_a? a1 51 &l &
' arr i AT ST gt I & AT T #
g Y |

Attempt all five questionk.
All questions carry equal marks.

st gta gy & 3w} afei |
gt g & oF WA B

1. (a) ‘Coordination is the orderly arrangement of group
efforts to provide unity of action in the pursuit of

P.T.O.




A0 /
n common purpose.’ In the light of this statemeny,
explain the nature of coordination.

‘yw amry aRya @) da J LI U
werd &1 % fed wHeg &9 W 9% & A9 #
amay § 1" § wYA % wETE H wad w vy
HUHTET | 8

(b) ‘Onc man control is the best in the world if that
one is big enough to manage everything.” Explain
this statement.

“gw-wafaa frago gfra A ga@ s § afz w@y
= @ yawd @t ¥ wEw 41" a8 wew
AHHATZU | . 7
. y Or (¥19a)
Explain franchising as a business format. Explain its

features and the different types of franchising
arrangements.

TR & S®Y ¥ ®Y ¥ Bagd @ GummnEr | IEE
fafaaalt aen seangfoin spaemst % fafvs s&d &
ft awmmgu | 3.6.6

2. (a) Explain

I sccurity problems related to e-business.
Mention

the steps to deal with security problems.
CEN R Al e wwens @ aweE

¥ {4 anenst ¥ oy % wof @ R aqwg
8
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(b) Explain the concept of social responsibility and
give arguments for social responsibility of

business.

amIfaed ITEIAE St Hhed | UG q9T AN

& e ITQad & fad adh dfeg | 7
Or (H9dN)

Explain the concept of “Make in India”. What are the
various measures taken by the Central Government
for the success of ‘“Make in India Programme”?

‘ﬂagsﬁm’mﬁmm@u‘ﬁiﬁg;ﬁm
s #@ Ahad & fad & weR g fd m
fafv= 3urg = 22 15

. What is the purpose of feasibility study of a project?
What aspects should be considered in such a study?
IREe % el ASEA H SRY . 12 W
Feqgq | o gqel | &W femn s 9fsw? 15
Or (%a) '

What is decision making? Explain qualitative
techniques of decision making. |

fofm w1 2?7 fofe &t e aafta @)
HUATET | _ 15

- Explain  the main barriers to management

Communication and suggest measures for removing
them.

P, L. 0.



[\ 4
Wmﬂg@xmﬁmmmmw
¥ fT 3w EEe | 15

Or (34an) '

Explain the concept of flexitime. How can it help the |

employees in achieving work life balance?
[

Flexitime & ST & WAL Fd-sfta T
Wﬁi%ﬁawmﬁﬁaﬁmmm

T 22 15 §

5. Write short notes on any wo of the following: L
(a) Problems of small business

ncing the -

(b) Span of management and factors influe
span of control

(©) Virtual or Network organisation

(d) lefcrcntlate between Maslow’s Need Hierarchy
theory and Herzberg’s two factor theory.

ﬁqﬁﬁm%wﬁmmﬁﬁﬂ.

(a) Y SR & TR

(b)maﬁaqaﬁ:amﬁ'qawaﬂaﬁﬁxa?rmrﬁ?
FA AA TS

(c) Yeadh srgal AArEl WIS

(d)ﬁm%%wmwwmammﬂ%
A I fagra § faig ifsd | 7575

14000
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(vn ser-aw &% fmd o) sue (58 7 Foffen
L G S syt (ol g

NoTii— Answers may be written cither in English or in

Hindi; but the same medium should be used
throughout the paper.

feorot.— g@ gv9g F1 I HGA @ o fadt vm
o # difeg dfeT adt sl #1 wem vE 7
graT EY |

Attempt all five questions.
All questions carry equal marks.

ast ufa yvat & 3¢ dfam
aft geAl # % auT § )

1. (a) The entity of company is separate from its
members. Comment on the statement with rele-
vant casc laws.

ELD




g = afma IaF wIE a fas 3,
arifirs are-fafy & weraar ¥ §@ F0T W faap
FIIT |

(b) Define Private Company. State the process of
converting Private  Company into a Publi

021

Company.
At st @ Ronfa S frsft FE @
qdsfis Fwd ¥ ofEafda s @@ aE #
qAT3TC |

(c) What do you mean by Preliminary Contract? State
its validity.

RS e ¥ 9 1 FE ¢ 2 3§ du@

A |
Or (3gdl)

Under what circumstances may the court disregard
separate legal entity of a company?

fg Rffadl & e S & ST H

Tea F IV T THA € ?

(b) What do you mean by One Person Company’
What are the privileges enjoyed by one persor
company?

UF-AfR FA ¥ 9 T FARS ¢ A,
FoEl @ faguusr e €2
(c) Few friends purchased a property. Later on they

promoted a company and sold the property to the
company at huge profits without adequat®

;...‘.
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2. (a)

(b)

(c)

3
disclosure. Can the company receive the profit
from the promoters?

9 il 3 s gwfa @i | aavE s=i
FAt yafda @t 3 3w gwfd 39 FIE @
a9 fao, a fau dQrer o & =, fa qafa
T TEAFT fRY | R wt wdas @ and
99 o Hahdt @ ?

What are the limitations on the power of a
company to alter its articles of association?

A e & F=aHadl # ufEdd F & fag
HIHT @t v W F1 S ¥ 2

P applied for 200 shares of a company on the basis
of prospectus containing untrue statements. After
the allotment of shares, he discovered untrue

statement in ‘the prospectus. What remedies are
available to P against the company?

P ¥ TH FAT & 200 AW % AU AEET HEAt
Ft fageor ufyen, fSOd &5 o™ &9d o, &
MR X f&Har| {9 & 3MEed & UvHEN 39
faawur ufye o fo@ 19 &YAl &1 qar <o |
F % fa%g P & 19 4T SYGR 3y § 7
Discuss the steps in online registration of the
company.
FI % IS USieul & GO & guid
Aty
Or (3T
P.T. O.
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(a)

(b)

3. (a)

(b)

(c)

I

W

4

Explain the Doctrine of Indoor Mana
State its exceptions.

WA v & fagra # wngmw Ty
SRELIIC R
Explain the provision of the Companies Ag;

regarding shifting of registered office from One
city to another within the same State.

SH T A TF MR ¥ QR TR F 0 vty
FEGE A TN gEryd Fet Afafam ¥
EYHEl & THSET |

Distinguish between Rights shares and Bonus
shares.

Rightsaﬁﬁaﬂimﬁﬁﬁﬁwmi

g€ment

What do you mean by buy-back of shares? Briefly
state the provisions of Companies Act with regard
to buy-back of shares.

HAl & qw @ler ¥ 7 91 guey ¥2 o
% 99 Giet ¥ wElhud S oiufiEy ¥
MGl S Wi § FqRy |

How are the auditors of a company appointed?

FHT & SHehah fHE TR frgaa R W 82

Distinguish between Managing Director and
Manager. | -

Yoo AR Yau fdwe o 297 3=} arar 8 ?
- Or (1%



(n)

(b)

(¢)

. (a)

(b)

(a)

(b)

(c)

§ 7023
What are Sweat equity shares? Discuss the
provisions regarding issue of Sweat equity shares.

-

Sweal @A 39 F41 AA 2 Sweat GHAT 7 F
frfya A walfwa wawrl &1 fAaea Fifao

What is the legal position of directors of the
company?

FR & v ) SR Rt A 22

Write a note on Shelf prospectus.

Shelf faaor gfaar w feooft faf@uo |

When and by whom may Extraordinary General
Meeting be called?

FHERY AW 91 Fa qA1 fFEF g e o0
wHdl €2

What are the provisions relating to Audit
Committee?

Shgs WAt ¥ gafya w9y = 82

Write a note on E-voting.
§-AIfen w fewoft fafay |
Or (3194)
Explain the provisions relating to proxy.

afdafafe (proxy) ¥ wraf-va st & "z |

Explain the legal provisions regarding declaration
of dividend by the companies.

mmfwmmﬂma’rﬁaaﬂﬁﬂmﬁwamfﬁ
NEYHET & AHEE |

How are the auditors of a company appointed?

P.T. O.
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J. (a)

(b)

6

Fl & e AR 5 TR # g
?7?

1
Explain the powers of Board of Directors to ¢
appoint directors of a company.

wA ¥ v &P Y R s ey b
H wiwal & wwEET |
What are the just and equitable grounds under
which the Tribunal may order compulsory winding !
up of a company?

F A ARG qA whEE SRt W s |
t_;:m FA & aAfrard wH w1 oy ¥ gwa

?

Write a short note on Corporate Social Respo- r
nsibility Committee.

J

5

Or (319en) F

Write short notes on any three of the following:

(a)
(b)

National Company Law Tribunal (NCLT)
Producer Company

(c) Independent Director

(d) Investor Education and Protection Fund.

fotfafan # & el A o e fomh i |
(a) TEH wet HHA ioER (NCLT)

(b) IEH Frget

(c) @Wad fdye

(@) Freave faren stk dao 99

8300
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(c)

1. (a)

(b)

g ULH-UN el I ARsht ar B e 0
T 7 I, affp a3 e 8o
eI el |

All questions are compulsory.

il yeF arfverd ¥

Compute income tax liability for AY 2019-)
of Mr. Shikhar (age 36 years, a residen!
individual) whose Taxable Income j
< 3,49,800. 3
Yo fRrEx (emg 36 a¥, Far® =afrkT) & 2019-
$ BT STIHT H oA HY | R BT dm_—
319 3,49,800% ¥ 8. No.

Mr. Luongsang, a foreign national and not: -
Person of Indian Origin, lives in Hong Kong
Prior to Previous Year 2018-19, he came ttl!.__
India on 10.04.2010 for a visit of 185 dayss )

and came again on 15.12.2017 for a visit0
100 days. During the Previous Year 2018-19
he comes to visit India on 01.07.2018 ant
leaves India on 12.07.2019. He furnishes tht,
following information. Determine h15

residential status and taxable income for th¢

Assessment Year 2019-20. Elt;

2
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Mo gomi, ue RARLh arits o s g«
F =iy 98 B, g8 o § Ear 2 ew
gd 2018-19 § | g8 185 RAT & a=m & ™o
10.04.2010 T R 37T X 15.12.2017
100 FBS & 3= 9) Y R oman | Ues ay
2018-19 & 1, g8 01.07.2018 &HI ARA Hi
QAT 9 AT & AR 12.07.2019 & 9RdG 8IS
AT B g8 frefaiad S Sgd Hdl © |

HAT g9 2019-20 F f™w I mEEE
frerfy ST T TG 37T &1 MURET BT |

No. Particulars : Ammount
' IR HH
R)

Interest from Debentures of 18,000

Reliance Ltd. received in India
pertaining to Previous Year
2018-19

e gd 2018-19 & ddiad AR
g Rrarda fafaes & w=on |9 A

i P.T.O.
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(1)

(i)

(iv)

Dividend from Indian Company 58,0
received in Hong Kong on
31.03.2019

31.03.2019 <l BHIT H AT

HIAT G ATHI T AT
Gift received from friend 1,87,00
in India on 03.05.2019

03.05.2019 @ 9 H

e & SUBR 9Tl g3

Technical fees received by him  10,48,00
in Hong Kong from Government

of India on 10.06.2018

10.06.2018 &I 9T ALHIT I

BT H 3% ERT AT qehereh!

I<h
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00
Capital (1ains from sale of 5,00,0

house situated in Hong Kong

received there and brought

i India on 05. 12.2018
—— oAt Rrefr @ goirTd
s aF ara gan @l 05.12.2018
e B IEG ARSI IR
OR
LT

(a) List any three incomes which are exempt

from tax under the Income Tax Act, 1961.
3

AT Atafee, 1961 & d8d & @ 8 U<
et 1 &9 o B gEEs B |
(h) Compute tax liability for AY 2019-20 for Mr.
Paresh (age 83 years, a resident individual)
whose taxable Income is ¥ 11,50,000.
_ 3
A e (g 83 ad, uehw Frard @R @

P 2019-20 & o @t 9 Soar =
A 11,50,000% &

> P.T.O,



7024

(c) Mr. Rakesh (40 years) is an Indian Citizep "
He is employed by ABC Ltd. (USA) iy ¢
California. He comes to Indig during th| i
Previous Year 2018-19 for a visit of 200 dayy E
on June 01, 2018. He left India for the firg
time on October 25, 2016 for employment
outside India. Before October 25, 2016, he
Was never out of India since his birth,

Determine his residential status for
Assessment Year 2019-20. 5%+

BT & Mg fpar mar 2 g S |
2018-19 % AR e & 200 Rkt 3t ayey
T 01, 2018 B T8 AR ey | 25 IR,
2016@%@@1?%%%%11—{%
%qagrrquzsmg\ar,zoleﬁ%aagmﬁ
w%aﬁwﬁwﬁalemqaﬁ |

2019-20 & 0 IHSH a1y Ry et |
Y |
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M:r Aniket (47 vears old, resident individual) is
working as a Deputy Manager with Cinematix
™t Ltd. in Punjab. He furnishes the following
nformation for the Previous Year 2018-19.
Compute his taxable income for the Assessment
Year 2019-20.

o SEn (47 a¥, T Frard @) FrEs
gEeT TiHcs, T § W AR 3 .| W
F47 £ | 98 [UBa 9y 2018-19 & 6T =iy
=== WA W ol IEeH a9 2019-20 &

.No. Particulars Ammount

oiE &R | i

)
Basic Salary 80,000 p.m.
TH aq gfa A8
Dearness Allowance 30,000 p.m.
(40% forms part of all qfd |18

retirement benefits)
mEE 91 (40%
w1 few 2)

7 P.T.O.

R e
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(iii)

(iv)

(v)

(vi)

Commission 42,04 (‘

HHIAT

House Rent Allowance
(Rent paid 40,000 p.m.)
weT e s (BeT
&1 A 40,000 HiHTE)

Aniket engages a domestic

52,000 p.,

4,000 p.

servant, however, the entire
salary to domestic servant
is paid by his employer

company

AT TH R AR TET B
BTleh, X BT @l QT da
ST B

Telephone facility at his

home, expenses incurred

2,000 p.m |

by employer company
I@P gY X AR FGiaEr 9%
Frfierar &9 &) fha

T T

T



(vii)

7024
Employer contributed 10% of Salary
towards New Pension J99 H 10%

Scheme to which he made

a matching contribution

M 3 g Y = 3

SESEEIRCIE I Cu|)

Car with driver provided by Cinematix Pvt.
Ltd. for Official and Private Purposes,
expenses of X 54,000 incurred by Cinematix
Pvt. Ltd. (Cubic capacity =1300 c.c.).
Remfes ms%rd [Rlo arTr ua™= & 2 g=ax

d Y HRX AN [fRe ol ok feh

qAISHl % T 54,000 3 @ @ GRIEES
&HCT =1300 c.c.)

On July 10, 2018, the employer transfers a

music system to him on his completing ten

years of service (cost of music system
purchased on September 01, 2017: ¥ 30,000)
for ¥ 8,000.
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e B (=gfes Reeew @1 @ls ged 01
e 2017 @ 30,000 %) 8,000% & f |

During the Previous Year 2018-19, he has made
the following investments, deposits or payments : H
Ry a9 2018-19 #F I At fFasr S a
g e ®

. Life insurance premium (policy taken in

2012) on the life of his dependent sister
(Sum assured : X 1,00,000) : % 10,000

e drar difaee (2012 F & T i)
I ST e & Stad 9 (SfFd WA ¢
uess @) : 10,000 X

Life insurance premium (policy taken in
2016) on his Own life (Sum assured
% 40,000) : X 5,000

ST < difHaH (2016ﬁ6ﬁTrs°tiﬁ%=rﬁT)
A o ael 9X (it 1 40,0003)
5,000%

10
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. Contribution towards public provident
fund : 50,000

s s fiE 50,000 ¥ & T
IR

. Repayment of loan (towards principal
amount) taken from IDBI for purchase of

residential house property : % 1,00,000
11

gégnmﬂgaﬁqﬁra%@ﬂﬁ%%q
GﬂéOéToéToaﬂé'ﬁ'&ﬁﬂéTf'{@T%
S T @ g 1,00,000 %

OR

STerar

(a) Explain the provisions in respect of
deductions admissible under section 16 of
the Income Tax Act, 1961 from gross Salary

under the head Income from Salaries.
4

TR AtaEaH, 1961 & 90 16 & T&d
@mdﬁﬁ%ﬁéuﬁmuﬁa%aaqa
g@m%mwaﬂﬂﬁwﬁ|

11 P.T.O.
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(b) Explain the tax treatment of rent fre,
accommodation under the head “Income
from Salaries”. 4
‘Yo QA og” MY & qEd fRUT 9w g
A W FH IYAX AT |

(c) Explain the tax treatment of unrecognised

provident fund. 3
T Jrgar ura Wiy iy & #v SqEr @
AT HY |

3. Mr. Keshav, a resident individual,owns a
residential house property. It has three equal
units : Unit-1 and Unit-2 are self occupied by
him for residential purposes, Unit-3 is let out

for residential purposes @ 12,000 p.m.

|
|
ﬁo%SW%W@QWWﬁﬁﬂﬁaﬁw’
Wﬂﬁﬁqﬁr%,%ﬂﬁﬁ?mm: 41 |
AT gHE-2 B, W—Saﬁaﬂa@q@aﬁ%m !
I B WA I BN B R oy g 12.000 [
gfemre & foo geT @ T B

12
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Municipal value of the property : < 3,60,000 p.a.
Ry @ Ao 3 3,60,000 3 uferad
standard Rent : < 3,00,000 p.a.

e BT ¢ 3,00,000 % S

Fair Rental Value : < 3,30,000 p.a.

Ersqey 7T AT ¢ 3,30,000 gfered

Municipal tax is imposed at the rate of 11%
which is paid by Mr. Keshav.

SR fear g RO HT 11% B aX |

T Sirar ® o off ded BT qIar fRar Sar
=

e |

A loan of % 3,00,000 was taken from Life
Insurance Corporation on 01.04.2014 @ 10% p.a.
for the construction of the house property. The

. Construction was completed on April 01, 2016.

< 1,00,000 was repaid towards loan on October

01, 2018. Ground rent was due of ¥ 2,000 in
respect of this property.

13 P.T.O.
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= F ffor & fRiw 01.04.2014 FH1 10% ufer o
P T 9T g ST HRART T 3,00,000 T 3
FoT forr war ary Fmir 1 oem, 2016 # gy
fFam ar & 1 s1ereER @ 1,00,000 % FT B fam
gHEC T A 01 oFFeE, 2018 H 3T GuRy 3
ey § Ards feear 2,000 ¥ er)

Compute his taxable income for the Assessment
Year 2019-20. 11

SEHTT a9 2019-20 B 1T T g ey fyeivor
FR |

OR
HECr

(a) Explain the provisions applicable in respect

of the following : &

ﬁwﬁf@a%ﬁaﬂﬁwmﬁﬁfaﬁw
F

(1) Deductionu/s 24(b)
Ferdl u/s 24 &t

(11) Unrealised Rent
FArga fepran

14



7024

Shivam owns a big house {constructuon
completed on March 31, 2014). The house
has two independent units. Unit-I (30% of
the floor area 1s let out for residential
remains vacant for one month when it 1S
not put to any use. While Unit-1I is utlized
for the purpose of his residence. Other
partculars of the house are as follows :

o= = 32 77 = e = (T FE

arf 2014 =@ T ES)1 9T F I w@as
:3’-’5'—;‘-1-’—[ HE?I??H?T:)O% 10,000 %
ofoE g 97 FEEE 259 & ﬁ?{tl =Zar
o 2 3 TE uF 5EE A% @l 7Edl 8 o

=
=5 FpF E ¥ FE1 S S Z | Ad&h

W

e

)y

v s~:

)

ﬁz-ﬂwzqﬁmm%ﬁam%‘sisu%

(ij Municipal valuation : ¥1,75,000 p.a.,

-

fair rent - < 2.00,000 p.a.

=7 5E T ¢ 1,75,000 % HiE,
famyz w7 ¢ 2,00,000 X gicad

—

15 P.T.0.
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(ii) Standard rent under the KRent Control

Act : ¢ 2,25,000 p.a.
gy fregzor Afuferad & wE A,
farrar  2,25,000 T aferad
(111) Municipal taxes : T 30,000 p.a. (50% of
the municipal taxes are paid by tenant).
aarqifaaEt w7 ¢ 30,000 T gfea
(7rrarfersr T @1 50% fr71a=17 B0
e fer e #)
(iv)] Repairs : ¥ 4,000
qred ¢ 4,000 %
(v) Interest on capital borrowed for renewal
of the property : ¥ 24,000
=T 24,000 3 ‘

Determine the income under the head
House Property of Mr. Shivam for the
Assessment Year 2019-20. |

TFAT g 2019-20 F fero o fargw @ 999
gv @ Ui # geq g & fafeer &<

16 |
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(a) During the Previous Year 2018-19,
Ms. Kavita transfers the following assets :
et ad 2018-19 # d@vm, g2t

(1) On April 30, 2018, she transfers a

personal computer for ¥ 30,000 (It was

purchased for ¥ 60,000 on January 01,
2018).

30 2mE, 2018 =@ @& 30,0003 3 faw
%6 01 S9ad 2018 & 60,000 3 F @irar
o)

(11) On June 15, 2018, she transfers personal

jewellery for ¥ 10,00,000 (purchased
during 2001-02 for % 80,000).

15 3, 2018 @ g8 10,00,000 3 3 fomw
ATFFE ATION H FIFGOT HIl ‘%;r
(@ 2001-02 % 2= 80,000 % F @i
T o)

(ii1) To avail of the exemption under section

54F, she invested ¥ 6,00,000 in
purchasing a new residential house
property on December 30, 2018. She was
having only one residential house
property other than this house property.

17 RO,
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(b)

Gl S4F @ el g ard 3ar & fom,
A 30 Ay, 2018 B 0w A AT
war @ian @ frm 6,00,000 < A fererar
R | 3@ T g anardia daten & st
e o afrardi gafer dr
Determine the amount of capital gain
chargeable to tax for the Assessment Year
2019 -20. 6
aTwer ad 2019 -20 @ HT B fer G
ey @t i FeifRa T
Given CII of 2001-02 : 100
Given Cll of 2018-19: 280

Shyam transfers a residential house
property situated at NOIDA on July 10, 2018
(sale consideration : < 15,00,000, expenses
on transfer : ¥ 10,000). This house property
was purchased on October 06, 2001 for
? 50,000. The market value of the property
on 2001 was T 1,50,000. To avail the benefit
of exemption under section 54, he purchases
a residential house property at Ghaziabad
for ¥ 8,00,000 on December 20, 2018.
Determine the amount of capital gains
chargeable to tax for the Assessment Year
2019-20. 5
18
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@E 10 e, 2018 H Auwr 7 Rera oF
aTardfia gy @& mwiae wn @ (Re 9T
Rer : 15.00,000 ¥, o @ @H
10,000 )1 g& omarig oy 06 aFay,
2001 ' 50,000 T # @{dt w=H o @q 2001,
F dufyy &1 ST 579 1,50,000 % o1 1 91T 54
P Ted G & aW IoH & fow 20 Ry,
2018 H 8,00,000% & fow Ml & T
g TE HuRy @Ot | e @y 2019-20
& B B I oI @re & i e B0
OR

SHECT

(a) Explain the provisions applicable in respect

of capital gains arising from the transfer of
residential house property under section 54
of the Income Tax Act, 1961. 5
amgeRtT fgfa|, 1961 @& 4RT 54 & oed
FrardE e gui & SRR ¥ I JoiRTd
ATt F day H @R JEHE S e ®e |

19 P.T.O.
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- —

—olain the treatment of advance money

bl Expial
forfeited under section 51 under the head

. ~ome from capital gains.

T

Explain the assets those are excluded from

(c) Exp
the definition of capital asset 3
= SETa B o= B R goirTd

srun. (age 40 years) is a totally blind resident
individual (certified by medical authority). He
+ 45 furnished the following information

sertzining to previous year 2018-19:

11
ZE f-mqatoaé)nzﬁgﬁmﬁgfczarfﬁﬁ
oy (Fefzem ufasmTor & JEIor) z) 30d
brpr d 2018-19 7 wiAfae fereAfata ATH

/Lo (el -
. Income under the head salary : % 4,00,000 |
(comnputed)

i A7 %, AmA A - 4,00,000 3 (A7)

20

.
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winnings from lottery (Net) : Z 70,000

el @ o () 70,000

Bank interest (S savings bank) : 7 12,000 *
Fixed Deposit ¥ 30,000

S ot (IEC %) 12,000 + qrarer ST

. 30,000 %
Gift of ¥ 2,00,000 from the brother of
grandfather on the occasion of marriage

anniversary.

st 1 gure @ STauY & B AR a
2.00,000 X AT IuBX

Advance money forfeited : ¥ 40,000

st g sted @ 40,000 4

Dividend from Infosys Ltd. : £ 9,50,000
—pfor fafes @ QT 9,50,000

Payments and investments :

Wﬁ'{'ﬁa’ﬂ:

Deposits in NSC VIII issue made on
05.01.2019: ¥ 60,000

05.01.2019 @ fFa Ta NSC VIII &b ﬁnfrr =1
T : 60,000 %

21 P.T.O.
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(a)

Donation to Prime Ministers National Heljef
Fund : ¥ 30,000

TUTTHA] U TES B R A o 30,000 2
Payment of medical insurance premium by
the assessee for his dependent father who
is resident and 62 years of age : 3 35,000
paid by cheque

TR 62 it anfa faer & fero feratfrd zro
fefepcar &mr difeas &1 e 35,000 ¢
o6 B YA fRar T

Determine the net taxable income of Arun
for the Assessment Year 2019 - 20.

TR g9 2019 - 20 TEIT H P& FHT AF
3T 1 FEier &Y |

OR

HLAT

Explain the provisions regarding set off and
carry forward of loss under the head ‘Incomé
from House Property’. 4
T H) O § o & ded g & Al A
OIS AT Y |

22
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(b) Kiranisa minor daughter of Mr. Suresh and
Mrs. Rekha. For Previous Year 2018-19,
Kiran has an income of ? 65,000 from
singing in concerts. Business Income of
father and mother (before including minor
child’s income) is ¥ 5,89,000 and 3 6,58,000
respectively. Who 1s assessable in respect
of Kiran’s income for AY 2019-20 ? In light of
this situation, explain the provisions relating
to clubbing of income of a minor child under

section 64(1A) of Income tax act, 1961.
4

ﬁﬂwaﬁrﬁsraﬂ'(gsﬂ%@a%r%ﬁ%m
a&2018-19%%1q,féstwaérdﬁ1aqzrﬁjé‘iﬁ
3 F 65,0003 b AT g B 1 HE-faar H
Wm(sﬂﬁq@%%@%ﬁiﬁlm
T @ ST)| 5,89,000 X ST 6,58,000 X
aﬁrrar:%iarézow-zo%%qﬁﬂwaﬁm%
Wuﬁaﬁqmmﬁﬁw%?s’aﬁaﬁ
> e & , sgEY AEFIH, 1961 & =0
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() Explain the deduction in respect of interest
ot deposits in case of senior citizens under

section SOTTB. 3
M ROTIB & aed afyss it & gmer o
S YR WSt @ dEy 7 Al s e B |

24 8300
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gyt gvil & 3F GHIT B |

1. (a) Define HRM. Describe its-features and functions.

HRM @& uftaifvd afde) §@% chral  qer

fergraanatt @ aofa @ifs | 10
(b) Why are policies nceded in Human Resource
Management?

| R R B )



(a)

(b)

(b)

-

Al @ AETEF 2 s

What do you mean by work force diversity?
Explain the consequences of ignoring diversity.

ard @@ fafava A s F areE @2 fafae
7 e FQ aret ufifeafaat # FEAEC 10
What role does a human resource manager play in

modern industries?
g Fani § AFE SR A A
3eT FT @ ? 5

Explain the merits and demerits of external
sources of recruitment. Why do reputed
companies prefer campus placement?

qdf ¥ ag @Al & AN gEERT | N6
Fofral fgs i ¥ gz H=& T8 &l
72 10
Define Human Resource Planning. Describe its
characteristics.

uHE HEEA QS A 9RWyd Ff9g | 39
fasraaraat @1 i Sifag | 5
Or (FAF4)

Explain the concept of job analysis. What is its
importance in the management of human
resources’?

1 faveruu ) Heahead GUET | gHg gaEd &
a9 | IUH F1 HEA @ ? 10




(b)

3. (a)

(b)

(2)

(b)

4. (a)

(b)

3 7031
What principles must be kept in mind by HRM

while taking the placement decision?

HRM # f&7 fagral | wa= & w@an 9fze 9=
a1 favfg faar s @ 2 5

What are the benefits of training to the organisa-
tion? What criteria are used for evaluating the
effectiveness of training?

3 &l AWew & S A 22 wivimer &
THIEHIRAT & Joaisd & AT 91 qqeve §2 10

Differentiate between training and development.

T 9 fae # 3R ST 5
Or (3194n)

What is career development? Explain the various
stages in career development.

TSifasT fasre 91 arar & 2 aqﬁﬁanﬁawﬁ
fafy= | = gaEET 10

Describe any two techniques of management
development.

vy fawmm &t f&=t Y qaa-ianl &1 qoiT HifeT |
5

Discuss 360° feedback of performance appraisal.
What are its advantages and disadvantages?

fasrga geaida &t 360° Wfa qfy w1 fad=m

FIFAT | 38F ATH-BITT &1 @ ? 10
What are the causes of industrial accidents?
sitenfirer gdeareil & a1 FROT @A ? ? 5

P. T. O.



4
Or (39an)

(a) What is compensation management? Distinguish
between base compensation and supplementary

compensation.
gfaqfd waw @@ 37 sl afaqfd qur @
afaqfd & g HifaC | 10

(b) Explain in brief the types of welfare services
provided to employees.

sHafEl Y R #® AN arelt Fedmr Jae F
vl & gfga § F9FET | 5

Arite short notes on any three of the following:

#(a) Transfer vs Promotion

(b) Employee Counselling

(c) Rationale of Employee’s Health

(d) Job Evaluation

(¢) Piece wage system Vs Time wage system.

ﬁﬂﬁﬂﬁﬁ?ﬂﬂﬂﬁfﬁﬁﬁrﬂ"ﬂfﬁm:
() FATATATO] &4 TR

(b) Fart T
(c) Ffart % @A F aH AR

(d) e qArE
(¢) Fraigan wAGh SO AT IR TG

quiTeAt | 5,5

3900
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Attempt all questions.
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ng.”’ Examine the

1. (a) “Marketing is not merely selli
ure and scope of

statement and discuss the nat
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«faqu W faEd &C G 817 A F wam
aﬂﬁqawﬁw;aﬁuq;ﬁfaﬁiéamﬁ%aq
AT | 7

(b) What do you mean by marketing mix? Explain the
concept of extended marketing mix.

frqum fam 9 FA1 GEed €7 foega fAom
firgr 9 FAGERON H FHAET | 8

Or (31gar)
(a) “The present day marketing is customer-driven.”
Comment. To what extent is this orientation

followed by Indian companies?

‘g fawum Tres Aiferd g 1 fewoil i
qRdtg FEtE g 98 sHfEE fEw J aF
qre faan S @1 R 2 7

(b) Explain how changes in the demographic and
economic environment affect marketing decisions. |
gz fF fF9 YER SAEfEEd ufEdd adl

aqifefes qatawor fagem faofal & wwifad i 2 |
8

2. (a) Explain the various stages in the consumer buying
decision process. How can a marketing manager
benefit from the study of consumer’s post-

purchase behaviour?
oy @ie fofa sfear & fafe= son £
guaEy | U fauuE HEEs F IuUSEIA F




(b)

(a)

(b)

3. (a)

(b)

\ /i

WA AR A s (e e e
aem § ) 5,2

What ix meant by segmentation? Suggest suitable

bases, giving reasons, (0 segment marke( (or (he

tollowing products: (1) Car, (if) Biscults.

e @ am s 82 Posr sendl % o

s & (o s 3 qu sfaa swit e

QW (1) ®R, (i) Mrepe | 2,6
Or (3Term)

Discuss the psychological factors alfecting
consumer behaviour. Use suitable examples.

JUMITHI SqaER &) wwIfra & A wArdylre
SR A WY 3fea IEmeReN 1o
AT | 7
What is positioning? Explain some of the

important bases of product positioning, giving
suitable examples.

frrfa-fafor = 37 sae Refe-frafor & o
HEeEyul MUY W I ITE AN WHFIRT | 8

Explain the meaning and significance of online
marketing.

Alaenga faus &1 oy aur A |qwEET | 7

Explain the term Advertising. Also elaborate its
characteristics and objectives.
P.T.O.
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(2)

(b)

(a)

A
fasmar 7z # auEno | sEA famemat am
eval &1 ot afa FIfAT | 2%
Or (AFA)

Write a detailed note on rural marketing in India.

srra o gt faqua @ famga @@ fafao 7
How does sales promotion complement
advertising and personal selling? Give suitable

examples.

fawa dad fagm ag1 dafF= faga #1 33
RO T § ? 3faa 3gE g ) 8

Explain the process of new product development.
Give examples.

Tt 3qe fasa &t afwar & AuzET ) 38
difs | 7

Describe the concept of product life cycle. Briefly
discuss the appropriate strategies to be adopted at
the introduction stage of PLC.

IAIE Sftaq TF F Hheqdl F g FIfAU | IATE
Stgq =@ (PLC) & 9nftya &R W A9AR d[
el 3fea eifd A da A frrn A

2

Or (g4
Write a note on test marketing of a new product.
Why do many new products launched in the
market fail?

. e o e e =




()

(b)

(a)

A\ 103K

A e ¥ e Wl wWous Q@ fafE |
A N enu o A e a9 fawer @1 s
R? 3.4

What is a brand? Explain the significance of
branding for marketers and consumers.

qUE a1 @ 2 fauuret qun susiieRre & ferg siifg
& WEAl B gmgngu | 3,5

“Pricing is an important clement of marketing mix
of a firm.” Comment. Explain the various factors
influencing the pricing decisions of a marketer.

“gf &% fauum iy d oA w weayl w2
¢ 1" feoquft @S fauoreal & qeam frofar i
TIfEd A 9 fafv= SRl & aasmEe ) 2,5
“The current retail scenario in India is undergoing

a revolutionary change.” Examine the statement
giving two new forms of retailing in India.

“qa ® FduE GeU Iigyd # sl aiEda
3 T R 1 U W T WA ¥ GEU UK %

T4 w4 R A YL R | 8
Or (3r¥ar)
Write a note on ‘skimming the market’ strategy of

pricing.

Hegd ‘AR fesfi’ wHifa W feoeft fafe |
7

P.T. O.



AR f

(b) What are the major marketing logistics decisions?
Briefly explain each one ol them.

wpa afhe foor P amn #7 gl A gel
# Gitra s Sy | 8
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1. (8)

(b)

2

“Wealth maJ't_u;.ulzatmn’;m a supetior ¢piterion than
profit maximization.” Do yoy , oe? Give
reasons- | - 8

g AAFAATT TF IGR meoz & O
sl X T AW gy 47 T
Sfe | | 8
A finance company makes an offer to deposit 2 |
sum of Rs. 35,000 and then receive a return of Rs.
3960 p.a. perpetually. Should the offer be

~ accepted if the rate of return is 12% p.a.? Wwill the

decision change if the rate of returnis 11% p.a.?

qaaf’aamﬁ%,oooaoaﬂmmmm
mﬁs,%osonﬁﬁﬁamﬂiﬁan‘ma;raﬁ
3| af oot W@ W 12% ol T A FNAE
TR A @ e ? afe gt ;W W 11%
sfrad 2 @ s ot wQAm? 7

Or (HREA)

(2) What are the major financial decisions taken by

finance managers?

ﬁ?ﬁﬂmm.g@ﬁ?ﬁﬂﬁﬂham%? 8

(b) Ramesh rented a house for 7 months at the rent

k

of Rs. 3,923 per month. Entire moncy is lying with
him. He now plans to invest this mOR€Y @ 9% p.a.
to get' Rs. 65,000. For how many Years is the - :
deposit made to realise the desired amount?



1 M09

T X 3,023 Fo Wk ww & 7 vy 5 (e o

R W forar | Qo & o % e o 4
W R W 9% Wl ¥ P wok 55,000 5o
"ﬁ'ﬁMIﬂmhmmmﬁmumm
PR o & forg et W B o oo 7

lhl’

2. ABC Limited has a machine with an additioral life of 5
years which costs Rs. 10,00,000 and has a bébk value
of Rs. 4,00,000. A new machine costing Rs. 2? 00,000
is available. Though'its capacity is same as thal of the
old machine, it will lead to a saving in variable cost 10
the extent of Rs. 7,00,000 per annum. The lifq of the
machine will be 5 years at the end of which it wil have

- a scrap -value of Rs. 2,00,000. The income ;g:f fatc i
40% and as policy the firm' does not make an
investment if the yield is less than 12% p.a. The old

: machme if sold today, will realize Rs. 1,00,000; it will

. - have no'salvage value if sold at the end of 5 years. The

- . company uses straight line method of depreciation. -

Capital gain on sale of old machine is also subject to .

~ the tax rate of 40%. Advise ABC Limited whether or -'
- not the old machine should be replaced.

mc_.ﬁo.ﬁmm'mﬁ%mvﬂmrasﬁ
R TR AT R 10 o Fo R IWH [WE g 4
W T 120 WY 5o X qE AE WY Swerew 4
Wﬁmmaﬁmmmﬁ#&Mﬂﬂm

‘,-..W'@Wﬁaﬂ?vﬁ'amﬂ—;mso wfr af T
| ®.T. O.
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mﬁmtlmﬁqmwsﬂi:m

e W SEE T g 2 @ O ‘3_'3‘”-*{3&
R 40% %'l'ﬁaﬁaﬁﬁ%ﬁu%mﬁ*ﬂaﬂ
e e i T e 41 afe o I W
—W'mﬂ?%@maaﬁﬁ'ﬁw5a&_m
ﬁmm@:@@m.umwﬂ
el e et A et § 1 R A9 S

[l

“_ﬁ'm_ﬂaﬂaﬁﬁme&%umcfﬁoaﬁm
ﬂﬁ‘iﬁwmﬂqmamﬁmw. 15

%8 Or (Agan) _
(a) ‘R _Limited is considering to instal a new project
~Costing: Rs. 7,50,000 with life of 6. years and no
. salvage value. The tax rate of the company is 40%
- and it uses straight line method of depreciation.
" The estimated profits beforg depreciation and tax '

~ (PBDT) are as follows:
Year " Rs.
by 1 1,50,000
2 2,00,000
3 2,25,000
4 2,50.000
S 3,00,000
6 Sl . 4,00,000

E.,“You are required to C?I_ﬂpute:
(i) Payback period



ﬂ‘n'.‘ £ e e

5

(ii) Profitability index at 12% discount rate.

R fifo [ 7§ GR@NHT @ WIE FA H AR A
@& 2 frws) @ 8 7.5 @R o, Sfta HIE 6
o § qu @ [ A ¢ W @R B A
0% ¥ 3k 9% qeEew @ E@dt @ vl &
T a8 qedEr 9 W ¥ qE e
(PBDT) =19 f :

aw %o
1 1,50,000
2. 2,00,000
3 2,25,000
4 2,50,000
5 ©3,00,000
| 6 4,00,000

ATqehl TTOHT Al ’3:

(i) aaEt P Sary

(i) 12% e F W ArAGTaHAr | 8

(b) When do NPV and IRR give conflicting rankings
in capital budgeting? Explain with examples.

t[a‘taaﬁﬂﬁ’vaamIRRmWavna—a
) deww @dgRe) T T 7

P. 1.0,



6 /
™ ) Calculate Wéighted Average Cost of Capital
3. (8

WACC) both by book value ang market value
( cights from the following informatiop.
w o

-,—-—-—"_'_—-——.-—-'—-__ h_—-_—--__-_‘l | Rs‘

[ | Rs.

3% Term loan 12,00,000
9% Cumulative preference  share 300,000 |
gﬁﬁg share capital (1,00,000 shares) 10,00,000
Retained earnings . 15,00,000
Total .- | 40,00,000
l

The market value of equity shares is Rs. 30 per
share. The company pays a constant dividend of
Rs. 3 per share every year. Assume tax rate @
35%. !

mwﬁ%'wwammﬁ
T ¥ §ft S wiia sited @@ (WACC) @i

| AT HfT
-8 .
- Ho
12,00,000
8% WEAfY Foy -
4 . . = 3,00,000
9% Wag Afam oy st N
I i 10:00,000
WA W gk (1,00,000 W) |
— ' —1740,00,000
kil

mmﬂmmmadﬂmwh

S
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mf“"m“’mmﬁw{aﬁrm%?ﬁ
élaﬂaftztss%qﬁm g

',.(b) Define Leverage What are the different types of
. leverage" Explain them with example.

3ere. 3 ot AR maqa:rq#r m
%73%‘@'<|3TUTFW| g T

L Or (3%a)
- The followmg are the data regardmg two compames P
‘ and Q bclongmg to the same equivalent risk class:

L Pamculars . |Company P Company [0,
- {Number of ordinary shares 90,000 1,50,000

| -_ Market price pershare | Rs. 120 | Rs. 1.00
. |6% Debentures . - Rs. 60,000 —
o _Profit before interest | Rs, 18 000 Rs 18; 000

Al proflts after debenture interest are dxstrxbuted as
deend ‘

; You qre.;equifed to explain how under M_odigliani and
- Miller Approach, an investor holding 10% shares in
'Company P will be better off by sw1tch1ng his holdlng_

toCompanyQ _
_'_Wwwmﬁmﬁﬁpwoﬁ
qwﬁuaawhiﬁ‘?f ) s

P.T.O.




lll ST *FMPW*Q

| sivt & wemr | 90,000 | 1,50,000 |
W‘{ﬂnﬁ{ S| %0 1:20 | o .1:-'00
6% T - | %o 60,000 o=
L Fo 18,000 | To 18,000 |

mwm%mmﬂwﬂ@lww‘?m
mﬁmtﬂmﬁi '

aﬁﬁﬁméﬁmmﬁm’lﬁqﬁqﬁwﬁm’
Ww%anﬂﬂpmﬁﬁm%mt@im.
ﬁg?mwﬂmqﬂmmﬂﬁaﬁrmﬁqﬂ’

TR | S - ¥
4. (ﬁﬂ Calculate the price per share ‘as pcr -Waltcr s
Ymodel: .
._'m , R S
{Earnings of the company ~ |Rs. _15’00’000“
‘Dividendspaid | Rs.9,00,000
:"_5. Number  of ordinary shares| .~ = .
:gytstandmg | 3,00,000 |
|Ptice earning ratio | em e
Rate of return on investment | 15% _

Arc you satisfied with the current dmdend pohcy
: of the firm? If not, what should . be optlmal '
iy dividend pay-out ratio in this case?

:meﬂmwmm

,.IAIlnI]
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[t S ool = %o 15,00,000
SR %o 9,00,000
3T WA ¥ ol Gl 1. 3,00,000
HHAd IS TG 833
lﬁaﬂ R Gt FI X - 15%

w1 A T @ adAe A A wqE §
A TR, A W A AT Ao A
IAA S & e ? 8

‘(b) What are the various'dcterminants of dividend
policy of a firm? | -
mdaﬁqu?ﬁ%ﬁfwﬁ%w?’ 7

Or (1gam)
(a) Assummg cost of equity is 11%, rate of return on
investment is 12% and earnings per share are Rs.
. 15, calculate -price per share by ‘Gordon Model’ if

- dividend pay-out ratio is 10% and 30%.

Ig WAA gC fF GEGT & @ 11% & fEW W
U W W 12% § a9 A9 WA W 15 Fo ¥,
téq e ¥ WA U qed g #WC A
amter et SIAE 10% F 30% €| 8

(b) What is meant by stablc dividend pohcy? Explain
the methods of mamtammg stablhty in the

payment of dmdcnd

P.T.O.
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5. ABC Ltd. is planning to sell 1,80,000 units next year. -
The .gxpected cost of goods is as follows: ;

e 2 Costper |
- | | unit (Rs.) 1.

"ﬁaw materials = 20

- F)irect labour J' 5
Overheads (including depreciation _of_\ 15
Rs. 5 per unit)

40 1: '.

| mtal cost \
ot —— o |
|Selling price | B | 50 J
The following is the additional information: “ -
Raw material in stock Average 2 months
Work in progress Average 12 month
Finished goods in stock Average 1 montﬁ b
Credit allowed by suppliers Average 1 month - |
Credit allowed to debtors = Average2 mﬁnths | -1;'
‘Lag in payment of wé.gcs | Average 1 month :

Lag in payment of overbeads  Average 12 month

15% of goods are <old on credit basis. Cash in hand is -
expected O be Rs. 20,000. From the above




n.. -,---@.'7635'

e mformanon you are requlred to prepare a ﬂtatement
"~ showing working capital requirements &f the firn."

ABC fifo m@aﬁlsoooomtdf%aﬁaﬁm
_W@%lmﬁmﬁamﬁn%
mqmﬁ | 2_0.

- B'Wﬁ?ﬂq (5 %o f mﬁ W‘v‘r |2 1S
T s

‘ ﬁmﬁaﬁmmﬂwwe‘? m
- -arzfmﬁrqt : - g m

10




or(zwEm
Wnte short notcs on the followmg (any three):
(a) Cash Budget |
(b) Rcorder Pomt for Inventorsr
(¢) Credit Policy |
(d) Opcratmg Cycle
ﬁqfaﬁaﬂ X fm#t ?ﬁ'-'r W qf&rca feoquit ﬁﬁﬂ
| (a) ffﬂw’&m : I 3
NO) mml:a‘* % fe EF' am?ﬂ ﬁﬁ:.
(e) W@ A o
(d)qﬁamaasn SR : 15
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ﬁmﬁ:—wmaﬂmwﬁ;ﬁm@#m@
wz?a?ﬁmaﬁ:rm?aaﬁwmmqaﬁ
g e |

Attempt all the questions.

et get & I AT

1. (a) What were the major defects in the structure of
indirect taxes before GST regime?

GST =ae A Tge ANAH F % g ¥ g
a1y F41 4 7 5
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(b) Explain the following:

(1) Persons liable for registration under Section
22 of CGST Act, 2017

(i) Voluntary registration under Section 25.

f= & gugmT

(i) CGST =fufam, 2017 & @ 22 F aysiy

 YSiieRur & fau qRt e

(i) @Us 25 & 7T wWios doftemo | 10
or(FwEm

(a) ABC Limited made the following supplies during
2017-2018. The given values are exclusive of GST,

wherever applicable.

Outward supply of goods (in Rs.)
(i) |Outward supply of goods 6,00,000

(i1) |Supply of goods from registered job| 4,00,000

worker premises

(iii) |Supply of exempted goods 8,00,000
(iv) Suﬁply of non-taxable goods 1,50,000
Inward supply of goods (in Rs.)
(i) |Supply of goods under reverse charge 2,00,000-

Calculate the amount of aggregate turnover and
comment whether the company is required to
obtain registration on the basis of aggregate
turnover.

ABC f&o %2017-18ﬁﬁ1zran1ﬁfu‘faﬁ‘|f‘aﬁgq
e GST, el Wt Wi &), ¥ fererm 2 |
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T e o %o o
) v %t s angfd 6,00,000
(i) \tsftepa Frf siftren wfte @ rer 4,00,000
I A |

(i) |egz-srer wrer % s 8,00,000
(iv) [ftea arer 9 sy 1,50,000
S & Ew SNgfd - %o
(i) |Fead ot & ol e @ em;ﬁr 2,00,000

TA AEd AR A 0ET WS ek frouit s
fh 1 31 e & MUR W F A+ Gt
maﬁméc | 10

(b) What are the Central and State taxes that have
been subsumed in GST?-

GSTﬁaﬁqﬁﬁuﬁmmﬁaﬁuﬁxﬁa
= foran T @2 - 5

2. (a) Write any five activities which are neither treated
as supply of goods nor as supply of services.

i ot fefated @ fafar @ T @ m S
g wwet St § ofit ¥ davall W amqfF | s

(b) What is the place of domestic supply of goods in
~ the following cases:

- (i) Supply not involving movement of goods

(it)  Goods supplied on board a conveyance.

I‘ | P. T.O.
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frr wmet & orer @t W eMyfd W W A |
(i) gl fomd w1 Goer whafea T8 @ |
(i) st aT W A St sgfd 2 5 |

. (c) In respect of following independent cases,
determine the place of supply:

frr wad amel & §ed 7 amgfd w1 wm
fraifa Fifae

(i) Mr. X of India supplied services to Mr. Y of
Srilanka.

A & fHo X I st & fito Y &t e
&t mqfd &t |

(i) Mr. Raj of Mumbai exported services to Mr.
Kapur of USA.

Tz & Mo U9 I e & firo @y o
qaait @1 frafa faan

(iii) Mr. Jhunjhunwala of Pune (Maharashtra)
supplied goods to Mr. Bhushan of Ghaziabad

(U.P.). The movement of goods terminated
at Ghaziabad.

O (TRRE) & o Fagamn I miwamEnr
(UR) & fio wuw = w7 3t amyfef &t
WA H q8 MSATEE W FHIS 87 74T |

| (iv) Mr. A of Delhi delivered the goods to B
(U.P.) on “Bill to Ship to” model on the
instructions of Mr. C (Haryana).
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f‘ac—vﬁéﬁﬂ?AﬁWU.R%ﬁmoB%
sfemom & st C & R W ‘fae U @R
fyrg &1’ Aied & MERN W Y& foham |

(v) Mr. Z of Delhi purchased a machine from
Mr. Vinod of Haryana. The machinery is to
be installed in Jaipur (Rajasthan).

et & Z 3 sfEon & folig ¥ T A
SO | nyiad SR (e § e H
Sicil s | 5
| Or (319d)

(a) What is the time of supply of goods under forward
| charge? |

,mnwéaammaaﬁar{ﬁfmmw%?s

(b) Sushil, a registered person, supplied certain goods
to Mr. Piyush, who is also a registered person. The
following details are available in respect of the

transaction:
(a) |Date of removal of goods 18.02.2018
(b) |Date of issue of invoice 16.02.2018
(c) |Date of payment entered in the books
of account 20.02.2018
(d) |Date on which amount credited in
bank account 23.02.2018

Determine the time of supply-

P.TE O



6

o Gefipa oafwa, gelta 3 @Y, S fF o
Goftaa cafed @ @ FO e W1 FH A | |
grafya faawr 4 2 lI
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(a) |arer & frsprga = fafy 18.02.2018
L(b) stor & frte @t fafy 16.02.2018
(c) |@rar gt | &t ra & fafa 20.02.2018
(d) |¥ @ & ufer S0 FR A fafy 23.02.2018

STqfd 1 THA Frd KT

(c) Chandan Ltd. exported some goods to Wilson Inc.
of USA. It received US § 10,000 as consideration
for the same and sold the foreign currency @ Rs.

72 per US dollar. Comp_uté the vale of taxable
supply of service under rule 32(2)(a) of the
CGST Rules, 2017 if RBI reference rate for US

dollar is Rs. 73 per dollar.

g fdo Y amifta ¥ fae@d Inc & FB @
frafa frar) 3@ 3@ a3 % f@w 10,000 US
ofe T gU S 3@ fRwt g W 72 Fo A
oo ¥ feut @ a9 fem) @ W FAE
AMgFF % e & M CGST fem, 2017 %
32(2)(a) & e FWg AR apifet SfeR &
dasf & 73 %o wfd ere” 2 | 5

What is the time limit for availing Input Tax
Credit (ITC)? |

3. (a)




5 0%
ITC A ¥ fau aua iy a9 ) 5

(b) Mr. Brahma has a sum of Rs. 95,000 on account of
Input Tax Credit of CGST in the Electronic
Credit Ledger. The output GST payables as per
Electronic Liability Register are the following:

GST Payabie Amount (Rs.)
(a) [Outward IGST 25,000
(b) [Outward CGST 60,000
(c) |Outward SGST/UTGST 60,000

Determine the order of utilisation of the ITC on
account of CGST. Also prepare a statement
showing the amount due, adjusted and payable in
cash.

st 9'T & UE CGST & FIE 399 #Hied &l o
¥ 95,000 To I THA FASZI(Th e oA ¥ AT
? | A GST daant setagifTeh arfae Tt

FER = 2

GST 4. k | afer (%)
(a) |SE% IGST 25,000
(b) [Sm@® CGST 60,000
(c) |sma® SGST/UTGST 60,000

CGST & &R ITC & 3I9AM am;-mﬁufﬁa
FFAT | qHTaT W, GG TR a6 QF

feamd gu ua faemor ot sl 10
P.T.O.

‘__.__; I ——
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(a)

(b)

(c)

4. (a)

(b)

What is blocked credit? Give 5 cases wheye ;

8

Or (349e) N |

What are the eligibility conditions fq, availing
ITC?

ITC &1 &% 38M & AT Avaar I ==y ¢ i

“lput
tax credit will not be allowed.

ITcaagﬁTaqz'l"s’lTrrl 5|

How is apportionment of input tax credit done i
case of partly taxable and partly exempt supply?

mw-mammﬁmﬁ%qm@ﬁ!

ITC & faursy f| YR fwar amr 22 5

What is Electronic Cash Ledger? |
SRS Aehg @ et & 2 5|

|

- - - I

Discuss self-assessment and provisional assess) |
ment in GST.

GSTﬁmﬁmammﬁmmﬁW

ST | 3
What s zero-rated supply?
TFR A 7 3 5
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e Yok W fowt fafia | 5

(b) Mention any five goods covered under reverse
charge mechanism.

ﬁ?f#mfaa%rauﬂqaaﬁma?u’hmaﬁaﬁ
faﬁam .

(c) Explain the audit required when turnover exceeds
the prescribed limit.

mamﬁﬁafﬁa@mﬁafwa‘rw%aa
ATYTSF HKEU H FHIRT | | 5

5. Write short notes on any three of the following:
(2) Baggage Rules |
(b) Composite and Mixed Supplies
(c) Taxable Event in Import
(d) B2B Supply and B2C Supply.
frafafes # & f5el @ W wfe feomll Fif
(a) IE TOE & fam
(b) fafsa ur waw amqfdar
(c) @ ¥ H-ATY T
(d) B2B Yfd qu1 B2C 3Mqfd | 55,5
Or (3reran)

(a) How s assessable value determined under
Customs Laws?

A G |
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(b)

10

| e & e uRv-arg e R oy

h

Fratfa fasam siar @ 2 | - 5 |8

A material was imported by sea at FOB price Rs.

15,00,000. The cost of transportation in India (by
sea) paid was Rs. 3,15,000 with cost of insurance

Rs. 30,000. Calculate CIF value and Assessable
Value.

qa;vmﬁwmzoé:FOBI:@mwéa

TR e W T UfEe (YE ER) & A

WRA # 3,15,000 ¥ & ¥ R stAT AT 30,000

¥o 9 | CIF qed den fAgiwr-a9ra qeg &t mum

ifeg | 5

What is Bill of Entry under Customs Laws?

T Yok A & T I wF W A 22 5

1800

B — T o — —— )
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- fewoit— 3@ gvAUT T IW HAT AT fF=1 @G &
w#a?ﬁmﬁf#?mﬁmmmm@ﬁ
g e |

Attempt all questions.
All questions carry equal marks.

gyt gvl & 3K AT
it yv & HF G & |

1. (a) Explain the term ‘Cyber Space’. What are the
different types of Jurisdiction in cyber space?

et WE' UE F GUEET | W WE § Aqraa
¥ fafu= weR &1 €2 9

P.LEO. -
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(b)

(a)

(b)

2. (a)

2

Write a short note on ‘Cryptography’.

‘FEAET W Hfera frou ferfa | 6

Or (3A9ge)

What is Domain Name? Explain the different
types of domain name disputes.

@fﬁqué73ﬁ'—r={mﬁma%’ﬁfm
TERT W EHART L 9

Explain the terms ‘Cyber Stalking’ and ‘Cyber
Vandalism’.

WER T aw amER aekar EC
HHZIRT | 6

What is Internet? Explain the basic applications
of the internet.

AR T & W@ S &

(b)

HHEATRT | | | 9

Which instruments or documents are excluded
from the IT Act, 2000?

IT sfygfam, 2000ﬂﬁqﬁmﬁsﬁm3qamh
S ATEL @1 77 & ? 6
Or (319

What is Cyber Security? What are the different
initiatives taken by the Government for prom-
otion of cyber security?

UER TIET T R 7 g [WET & Sredred &
fa s@ER g & @t e @ TR §2 9



(b)

3. (a)

(b)

3 7025

‘The two terms Internet and World Wide Web are
synonymous.” Is this statement true or not? Give
reasons.

“ﬁwmamﬁm%mﬁér’
O T8 FU9 T & A G ? HWO T 6

Explain the various steps involved in creation and
verification of digital signature.

fefeat eee % o qun wer F fafed i
O A TEAE | 9

Explain the prdvisionfs regarding time and place of

~ dispatch and receipt of electronic record.

(a)

(b)

4. .(a)

it e &t Wi ao Yyur F T SR

o ¥ gEtyd TEaEl S JEERy | 6
Or (AFA)

How does the Information Technology Act, 2000

enable the objective of Government in spreading

e-governance?
nafzrﬁw,zooomé:e-wasma;
v F1 Y qEw T R ? 9

State the provisions of the IT Act regarding
attribution of electronic records.

it famd & SR § Fai-Hd 1T Act &
graaEl i qdET | 6

Discuss the powers and procedures of the

Appellate Tribunal (AT). Explain the provisions
P. E O




(b)

5. (a)

4
regarding the appeal made to the Appellate
Tribunal.

i wifgaw & wfeadl 3R ufwaet &
ey gifew ordicia wifastr g0 &t TR
it ¥ grafHd MEgFl S 99T | 9

What are the provisions related to procedure to

be followed by Certifying Authority for issuing
Digital Signature Certificate under IT Act?

IT aifafge & " fefed TaR YHIOY
frffid & & fau 90T AfesRt g1 e &t
T arelt 9fEaT § gEfEd TEuE &4 § 2 6

Or (3a)

What is the role of certifying authority as per IT
Act and who can play the role?

IT aifufram & yavE afasd &t s w1 82
IqF U S 7 gt 2 9
What does the term ‘Privacy’ mean? Explain
‘violation of privacy’.

frear @ ¥ T AvE B2 fremn @ e
HHART 6

Which are the different categories of cyber
crimes? Specify examples. Is infringement of

copyright an offence? Explain.

e g & fa= St S €2 39
AR | FO SR F ST AWE 87
AT | 9
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(b) Distinguish between ‘Cyber contraventions’ and
‘Cyber offences’.

‘QEET ATUUEl’ du1  ‘WgeR  IeeruAl § e
IS | 6

Or (3A9gd)

(a) How is a Controller of Certifying Authority
appointed? What are his functions under the IT
Act, 2000? |

Yoo SRl o e fed yer frge fohar
S 22 1T afaftm, 2000 % AT 3w HE
CFR? 9

(b) Explain briefly the various effects of cyber crimes.

TrgeR gl & fafe= woT WEY § aHaRTl 6

3500
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(59 Sv-7T & faed & IW A T i
S G ST A fared 1)
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Hindi; but the same medium should be used

 throughout the paper.
St s gvATE @ I AW a1 fe e
ey F AT AT et SO @ A T E
g1 =Meq | |

Attempt all questions.
All questions carry equal marks.

mﬁmarﬁaﬁﬁ’l
a5t gv & o7 WA & |

1. (a) Explain the nature of Advertising. Also diff-
erentiate  between advertising  and sales

promotion.
P.T.O.
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fagaa &t Wepfd WHHARC | O™ awr fasg

g | I ot whifeg | | 7
(b) Explain the types of Advertising classified on the

basis of target audicnce and geographical spread.

afed aviE @ whieia BER % oTER W
CRiCT m{ﬁmﬂ%maﬁml 8
Or(3TEIHT) |

(a) “The basic objective of Advertising is to increase
sales and profits.” Elaborate, pointing out other

objectives of advertising.
mewﬁw%ﬁmamwaxﬁqﬁu

R\ foma & o= REA F 3P FW g, AR
b Wt 7

/(b) What is Advertising Budget? Discuss two
important methods of determining advertising

budget.

foqr sete @ drar 82 famiga see frgifd
HH H A Teqyl fafaEt o faaeT w8

2. (a) What are the various ways of Advertising through
internet and other interactive media?

g YT I 3efeRe wifewr W fagaT 3 F
fafi=T wR =T @ 2 7
(b) Which Advertising media would you suggest for
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advertising the following products/service/idea
Give reasons also. |

(1) Banking service

(if) Tractors

(1i1) Toys

(iv) Child vaccination programme. |

et et A o a1 Farame ey 3 ferd
A fagea wem @ gsm SN ? wWw

(iv) I EEIERY| s?nrrql | | 'g
Or (Jgan)

Explaln any three of the following:

(a) Television Advertising

(b) Transit Advertising

(c) Product Placements

(d) Media Scheduling.

frey f & fedl @9 & GAERG
(a) Sefifas famm

(b) TREEA faqmad

S A o
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(c) AR @Ede
(d) wifear vggfaT 55,5

3. (a) What do you understand by rational appeals?
Explain, giving examples, the use of rational
appeals in advertisements.

FdTa anfelt § T wHER €2 fawTr &
T ATdiell & T A QIR HEART | T

(b) Critically examine the role of celebrities in making
endorsements while advertising.

mmwmmﬁmmaﬁ

IHHT T ATATATHS AR HIQ | 8
Or (31ga)
Write notes on any three of the following: 9

(a) Emotional appeals

(b) Jingles

(<) Body copy

(d) Advertising creativity.

frt &} forll #9 W foomoit farfm,
(a) WEATHS 3TUTS

(b) ST (jingles)

(c) ¥R & F%a (body copy)



(a)

4. (a)

(b)

(2)

(b)

7027

fagTa AT | 55,5
Why is it necessary to measure advertising

effectiveness? Explain. |
fqTa SWESHIa R ATOAT SEl EEh 2?
Y | 7

Explain in detail “Consumer Jury” method used
to measure advertising effectivenes.

faQTOT TATESHIRET 29 & fad Sy g=Ed
fafy & fasr 9 9HesT | 8

Or (3Ta)
“One of the essential steps in advertising
management is to measure the effectiveness of an
advertisement.”” Why do some advertisers not wish
to measure advertising effectiveness? |

“foQITOT Se-E S T avde 901 @ fagad
SR A9 FY ot fame
ATIHTIAT Sl A i 331 Al T8l TEd ? 7

Describe the various methods of evaluating sales
effect of advertising.

o % R W oWE @ WY @ fafes

ﬁfﬂﬁwmﬁml 8

5. Explain any three of the following:
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(a) Types of ad agencies
(b) Deceptive advertising
(c) Agency compensation
(d) ASCI

(¢) Digital advertising.
f= 1?f q fgt d9 & HHLATRY
(a) ToT oIl o SR
(b) WIS ferqma

(c) T

(d) ASCI

(e) fefsea famma |

5,9,

4900
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1.

(a) What are the dszerent categones Qf ry

- criminals. Explain the various te.chmques to Cﬁn

- cyber-crimes. LI P

- (b) Distinguish between cyber crimes and LOIcht',I

crimes.
OR

(a) Define the term Domain Name.. What are dlffe i

types of dlsputes with respect to domam nar . '

. (b) Explain the various effccts'_Qf‘-.cybércri'mc:s'? _ _‘

S

I(EF) éww@&rﬁﬁfﬁwéﬁrmaﬂr%?m—w

aﬂ%%ﬁv%ﬁw———raﬁﬁaﬁmﬁmﬁ:

(@) maq@aﬂtmwﬁmm%ﬁamaﬁf

StRIdl

(=) aﬁwmwamzawm%mmxa%;ﬁ%zqmz%aal'

ﬁﬁﬁm%ﬁmw%?ﬂ{”f

(@) Wm%ﬁﬁ———rmawaﬁﬁl\”



1

7194 3

2. (a) Define E-Contract. What are the essentials of E-

Contract? Explain the different kinds of E- -
Contract? (9)
(b) Intcrnet 1s a boon in today’s world however, it

has certain disadvantages. Comment. (6)
OR

(a) What are the objectives of IT Act 20007 What
)

arc the exclusions from the Act?

dvantages it has in

(b) Describe E-Form. What a
(6)

comparison to paper form?
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3. Discuss the provisions for Attribution, Acknowledqme,
and dispatch of Electronic Records. “i
OR !

(a) How the electronic records can be authenticateq
State the legal provisions of the IT Act regardin,
authentication of electronic records. (9

(b) Explain the meaning and uses of digital signature,

. ; (6)
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(a) Explain the functions of Controller of Certifying
Authorities (CCA) under the IT Act, 20007 (9)

b - )l ”
(b) What is the procedure [or grant or rejection of

lic Y -
ense by Controller of ‘ertifying Authorities?

(6)
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h

OR

F

(a) What (.omtltutes damage to Lomputer Of computer

©Usystem or computer network? Slate the penalties

- prescribed under the Information Technology Act
2000 for $uch offence. T 9)

(h) What do you mean by ‘Cyber Terrorlsm under IT
Act ? (6)
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(1) Copyright as a tool of security
(iff) - Adjudicating office
OR
Explain the following terms :
(i) Internet Governancce
(i) Penalties and Compensation
(iii) Copyright Infringement (3§
fRwfeifiga o oot ford
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Sr. No. of Question Paper : 8132
Unique Paper Code 1 22415102-0C

Name of the Paper Insurance and Risk Management

Name of the Course Commerce : G.E.

Semester i |

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt all questions. All questions carry equal marks.

3. All questions have internal choices.

1. Define the term Risk Management. Explain the various

steps involved in risk management process. (15)
OR

Define and explain the concept of Risk. Briefly explain

the various types of risks. c18)

PT.0.
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7. Explain in detail the various factors that led to
globalization of Indian Insurance Sector. Mention the

opportunities and threats it holds for India. (15)

OR

Define Insurance. Discuss in detail the various
functions of insurance. Differentiate between

insurance and assurance. (15)

What is an Insurance Contract? What are the
components of Insurance Contract? Explain the nature

of Insurance Contract. (15)

OR

Explain the Principles of Utmost Good Faith; Principle
of Indemnity and Principle of Contribution. (15)

; 4. (a) Write short notes on Liability only Policy and
Package Policy. (7)

(b) Explain the term health insurance. What are the

different policies of health insurance? (8)

OR
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What do you mean by Marine Insurance? Explain the

various types of marine insurance covers available in

India? (15)
5.  Explain the Constitution of IRDA. Briefly state the
powers, functions and role of IRDA. (12)

OR

Write short notes on any three of the following :

(a) Indian re-insurance market
(b) Control of Malpractices in India
(c) Loss Assessment and Loss Control

(d) Stock policies under Fire Insurance (3x5=15)

(600)
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